Annex

- i Herefordshire Council requirement by Parish, including Band D equivalent
- ii Council Tax for each valuation band, by Parish, without the Police & Fire precepts
- iii Police Authority precept requirement for each valuation band
- iv Fire Authority precept requirement for each valuation band
- v Council Tax for each valuation band, by Parish, including the Police & Fire precepts

Parish	Parish Precept	Tax Base	Parish Precept Basic Tax Rate (Band D)	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,227.99)
Abbeydore & Bacton Group Parish Council	£ 6,991	151.94	£ 46.01	£ 1,274.00
Aconbury Parish Meeting	115	34.13	3.37	1,231.36
Acton Beauchamp Group Parish Council	2,698	168.55	16.01	1,244.00
Allensmore Parish Council Almeley Parish Council	1,947 7,001	240.79 239.40	8.09 29.24	1,236.08 1,257.23
Ashperton Parish Council	3,048	113.63	26.82	1,254.81
Aston Ingham Parish Council	2,440	202.28	12.06	1,240.05
Avenbury Parish Council Aymestrey Parish Council	3,379 2,737	104.48 151.54	32.34 18.06	1,260.33 1,246.05
Ballingham, Bolstone & Hentland Group	3,883	278.10	13.96	1,241.95
Bartestree & Lugwardine Group Parish Council Belmont Rural Parish Council	22,960 46,956	815.70 1,327.43	28.15 35.37	1,256.14 1,263.36
Birley with Upper Hill Parish Council	1,907	125.97	15.14	1,243.13
Bishop's Frome Parish Council	20,340	302.48	67.24	1,295.23
Bishopstone Group Parish Council Bodenham Parish Council	3,900 9,473	188.25 441.08	20.72 21.48	1,248.71 1,249.47
Border Group Parish Council	7,052	292.03	24.15	1,252.14
Bosbury and Coddington Parish Council	9,209	344.77	26.71	1,254.70
Brampton Abbots & Foy Group Parish Council Bredenbury & District Group Parish Council	1,900 5,165	214.72 153.93	8.85 33.55	1,236.84 1,261.54
Breinton Parish Council	7,917	389.84	20.31	1,248.30
Bridstow Parish Council Brilley Parish Council	4,925 4,604	382.98 118.31	12.86 38.91	1,240.85 1,266.90
Brimfield and Little Hereford Group Parish Council	8,936	480.78	18.59	1,246.58
Brockhampton with Much Fawley Parish Council	3,549	90.15	39.37	1,267.36
Brockhampton Group Parish Council Bromyard & Winslow Town Council	7,525 144,919	322.48 1,303.25	23.33 111.20	1,251.32 1,339.19
Burghill Parish Council	13,478	668.54	20.16	1,248.15
Callow & Haywood Group Parish Council	5,297	202.88	26.11	1,254.10
Clehonger Parish Council Clifford Parish Council	10,828 3,881	463.57 249.74	23.36 15.54	1,251.35 1,243.53
Colwall Parish Council	53,844	1,093.80	49.23	1,277.22
Malvern Hills Conservators (Colwall Parish Council) Cradley Parish Council	31,349 23,859	" 754.71	28.66 31.61	28.66 1,259.60
Credenhill Parish Council	15,253	611.13	24.96	1,253.00
Cusop Parish Council	7,085	170.94	41.45	1,269.44
Dilwyn Parish Council Dinedor Parish Council	10,846 5,556	284.47 124.87	38.13 44.49	1,266.12 1,272.48
Dinmore Parish Meeting	-	8.86	-	1,227.99
Dormington & Mordiford Group Parish Council Dorstone Parish Council	12,393	300.19	41.28 14.91	1,269.27
Eardisland Parish Council	2,524 14,943	169.25 219.30	68.14	1,242.90 1,296.13
Eardisley Group Parish Council	8,221	474.81	17.31	1,245.30
Eastnor & Donnington Parish Council Eaton Bishop Parish Council	3,411 4,780	134.52 183.28	25.36 26.08	1,253.35 1,254.07
Ewyas Harold Group Parish Council	15,398	423.87	36.33	1,264.32
Fownhope Parish Council	18,855	408.15	46.20	1,274.19
Foxley Group Parish Council Garway Parish Council	1,636 10,398	158.11 170.05	10.35 61.15	1,238.34 1,289.14
Goodrich & Welsh Bicknor Group Parish Council	5,288	248.65	21.27	1,249.26
Hampton Bishop Parish Council Hampton Charles Parish Meeting	9,808	197.61 18.41	49.63	1,277.62 1,227.99
Hatfield and District Group Parish Council	2,388	211.93	- 11.27	1,239.26
Hereford City Council	624,464	15,087.28	41.39	1,269.38
Holme Lacy Parish Council Holmer & Shelwick Parish Council	14,149 6,723	181.29 614.31	78.05 10.94	1,306.04 1,238.93
Hope Mansell Parish Council	1,426	132.04	10.80	1,238.79
Hope under Dinmore Group Parish Council How Caple, Sollershope & Yatton Group Parish Council	3,029 4,836	139.60 153.03	21.70 31.60	1,249.69 1,259.59
Humber, Stoke Prior & Ford Group Parish Council	3,704	279.40	13.26	1,241.25
Huntington Parish Council	625	45.67	13.69	1,241.68
Kentchurch Parish Council Kilpeck Group Parish Council	5,908 10,196	99.80 191.74	59.20 53.18	1,287.19 1,281.17
Kimbolton Parish Council	5,073	191.94	26.43	1,254.42
Kings Caple Parish Council Kingsland Parish Council	6,274 9,449	136.71 441.48	45.89 21.40	1,273.88 1,249.39
Kingstone & Thruxton Group Parish Council	6,922	372.43	18.59	1,249.39
Kington Rural and Lower Harpton Group Parish				
Council Kington Town Council	3,829 54,052	224.17 843.06	17.08 64.11	1,245.07 1,292.10
Kinnersley and District Group Parish Council	3,017	229.75	13.13	1,241.12
Lea Parish Council	8,535	227.66	37.49	1,265.48
Ledbury Town Council Leintwardine Group Parish Council	240,868 13,851	3,272.36 432.23	73.61 32.05	1,301.60 1,260.04
Leominster Town Council	202,450	3,383.20	59.84	1,287.83
Linton Parish Council	5,784	448.84	12.89	1,240.88

Jangaron Parish Council 4,844 458.50 10.56 1.238.5 Janwarne & District Group Parish Council 1,934 259.40 7.46 1,235.4 Lanwarne & District Group Parish Council 1,7927 584.36 30.68 1,254.8 Juston Group Parish Council 9,743 325.53 26.84 1,254.8 Juston Group Parish Council 9,744 271.63 355.77 1,263.61 Varder Parish Council 16,411 510.14 32.17 1,260.11 Warden Parish Council 6,415 156.641 41.01 1,269.01 Walton Parish Council 6,415 156.641 41.01 1,269.01 Walton Parish Council 3,383 166.96 20.26 1,248.21 Vonkland and Stretford Parish Council 3,326 79.90 41.63 1,226.01 Workland and Stretford Parish Council 3,237 260.49 1,248.21 1,248.21 Vuch Brich Parish Council 3,237 260.49 1,243.01 1,249.41 Workland and Stretford Parish Council 3,247 240.	Parish	Parish Precept	Tax Base	Parish Precept Basic Tax Rate (Band D)	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,227.99
Jangaron Parish Council 4.844 456.50 10.66 1.236.5 Janware & Disriki Group Parish Council 5.402 409.04 13.21 1.236.5 Jowen Builingham Parish Council 9.463 352.53 26.84 1.265.6 Joynshall Parish Council 9.463 352.53 26.84 1.265.6 Varden Parish Council 9.463 300.94 20.80 1.264.8 Varden Parish Council 16.411 151.14 32.17 1.260.4 Warden Parish Council 6.415 156.41 41.01 1.269.4 Warden Parish Council 3.333 166.96 20.26 1.248.6 Cauncil 3.332 166.96 20.26 1.248.2 Cauncil 3.267 79.0 41.63 1.268.6 Cauncil 3.267 224.15 1.31.7 1.242.1 Cauncil 3.267 224.15 1.31.7 1.242.1 Cauncil 3.437 200.48 1.27.5 1.242.5 Cauncil 3.267 224.15 <t< td=""><td></td><td></td><td></td><td></td><td></td></t<>					
Janware & Distric Group Parish Council 1,934 269.40 7.46 1,285.4 congreum Group Parish Council 17,927 584.36 30.68 1,265.6 Lator Group Parish Council 9,744 277.63 35.87 1,265.6 Juston Group Parish Council 9,744 277.63 35.87 1,265.8 Varistow Parish Council 16.411 510.14 32.17 1,268.9 Varistow Parish Council 52.18 166.99 32.41 1,260.1 Varistow Parish Council 52.18 166.99 32.41 1,260.1 Varistow Parish Council 3,326 79.90 4.62 1,242.2 Varistow Parish Council 3,326 79.90 4.63 1,225.3 Varish Barish Council 5,533 368.84 15.10 1,243.1 Varish Barish Council 3,326 79.90 47.63 1,242.2 Varish Barish Council 3,437 200.49 17.14 1,244.1 Varish Barish Council 3,437 200.49 17.14 1,244.2					1,269.81
congrow Group Parish Council 5,402 409,04 13.21 1.241.2 cover Builingsham Parish Council 9,463 352.53 26.84 1.256.6 vynshall Parish Council 9,744 277.163 358.71 1.268.6 Wadley Parish Council 16.411 510.14 321.71 1.260.4 Marden Parish Council 6.415 156.41 41.01 1.260.4 Marton Parish Council 6.415 156.41 41.01 1.260.4 Marton Parish Council 3.333 166.96 20.26 1.248.2 Council 3.326 77.90 41.63 1.269.4 Council 3.281 726.86 20.26 1.248.2 Much Browster Council 3.287 244.15 1.0 1.243.2 Wuch Browster Council 3.437 200.49 17.14 1.244.2 Wuch Browster Council 3.437 200.49 17.14 1.244.2 Wuch Browster Council 3.437 200.49 17.14 1.244.2 Orass at Stretford Parish Council					· · · · · · · · · · · · · · · · · · ·
ower Bullingham Parish Council 17,927 584.36 30.68 1,256.6 uston Group Parish Council 9,744 271.63 35.87 1,258.6 yonshall Parish Council 8,133 390.94 22.080 1,248.7 Warden Parish Council 16,411 510.14 32.17 1,269.1 Warden Parish Council 6,415 156.41 41.01 1,269.1 Warden Parish Council 6,415 156.41 41.01 1,269.0 Warden Parish Council 3,326 79.90 41.63 1,269.0 Warden Parish Council 3,326 79.90 41.63 1,269.0 Workton on Lugg Parish Council 3,267 240.61 1,217 1,241.1 Wuch Bworkton Parish Council 3,437 200.49 17.14 1,244.2 Wuch Bworkton Parish Council 3,437 200.49 1,244.2 1,244.2 Wuch Bworkton Parish Council 6,771 165.28 41.08 1,266.1 Tocop Parish Council 6,771 165.28 41.80 1,266.1 <tr< td=""><td>•</td><td></td><td></td><td></td><td>· · · · · · · · · · · · · · · · · · ·</td></tr<>	•				· · · · · · · · · · · · · · · · · · ·
Justin Group Parish Council 9,463 352,53 26,84 1,254,8 Wadley Parish Council 9,744 27,163 356,97 1,285,8 Wadley Parish Council 16,411 61,014 32,17 1,280,1 Warton Parish Council 6,415 156,41 41,01 1,282,0 Wathon Parish Council 6,415 156,41 41,01 1,282,0 Wathon Parish Council 3,383 166,86 20,28 1,245,2 Monkland and Stretford Parish Council 3,383 166,86 20,28 1,245,2 Much Erich Parish Council 3,383 166,86 20,28 1,245,2 Much Cowame Group Parish Council 3,347 200,49 1,71,4 1,245,1 Much Cowame Group Parish Council 3,467 248,15 13,17 1,243,0 Much Cowame Group Parish Council 4,617 286,76 162,92 1,244,1 Much Cowame Group Parish Council 4,616 340,79 42,89 1,700,1 1,338,0 Orce Parish Council 4,616 340,79 42,8	•				· · · · · · · · · · · · · · · · · · ·
yenshall Parish Council 9.744 271 63 35 87 1,263 80 Varder Parish Council 18.133 390.94 20.80 1,248 7 Varstev Parish Council 6.218 160.99 32.41 1,260 4 Varstev Parish Council 6.415 156.41 41.01 1.289 0 Varstev Parish Council 3,383 166.96 22.6 28.6 Council 13,203 27.860 47.36 1.245 2 Council 3,321 20.94 15.10 1.245 2 Vach Birch Parish Council 3,226 79.90 41.63 1.275 3 Vach Birch Parish Council 3,437 200.49 17.14 1.245 1 Vach Bowchurd Parish Council 3,437 200.49 17.14 1.245 1 Vach Bowchurd Parish Council 4.671 286.76 16.29 1.246 2 Orce Parish Council 4.671 286.76 16.29 1.244 1 Vach Bowchurd Parish Council 2.673 14.08 1.245 1 Droce Parish Council 2.677					
Watelley Parish Council 8.133 390.94 20.80 1,248.7. Wartser Varish Council 16.411 151.14 32.17 1,260.1. Wartser Varish Council 5.218 160.99 32.41 1,260.1. Wathon Parish Council 6.415 156.41 41.01 1,269.0. Wathon Parish Council 3.383 166.66 20.26 1,242.5. Vankara Mark Territor Parish Council 3.383 166.66 20.26 1,242.5. Wach Bartsh Council 3.383 166.66 20.26 1,242.5. Wach Bartsh Council 3.437 20.0.49 17.14 1,245.1. Wach Bartsh Council 3.437 20.487 1,244.1. 1.244.1. Wach March Parish Council 2.673 249.75 10.70 1.236.6 Droop Parish Council 6.707 16.286 1,240.4 1.260.1 1.264.1 Vach March Parish Council 2.673 249.75 10.70 1.236.6 Droop Parish Council 6.707 16.288 1.260.6 1.260.2	•				
Marden Parish Council 16,411 51.04 32.41 1,260.4 Wartsow Parish Council 5.218 160.99 32.41 1,260.4 Wartsow Parish Council 6.415 156.41 41.01 1,280.6 28.66 Wild/atton-onthe-Hill and Leysters Group Parish 28.66 28.60 28.60 28.60 Wonkland and Stretford Parish Council 3,323 166.96 20.26 1,248.2 Wonkland and Stretford Parish Council 3,226 278.60 47.36 1,275.3 Wuch Brich Parish Council 3,437 200.49 17.14 1,241.1 Wuch Bewchurd Parish Council 3,647 307.26 12.50 1,240.4 Orteor Parish Council 2,673 249.75 10.70 1,238.6 Wuch Bewchurd Parish Council 2,673 249.75 10.70 1,238.6 Droop Parish Council 2,673 249.75 10.70 1,238.6 Periodrup Parish Council 14.616 340.79 22.87 1,260.3 Periodrup Parish Council 2,267 182.8 <t< td=""><td></td><td></td><td></td><td></td><td>· · · · · · · · · · · · · · · · · · ·</td></t<>					· · · · · · · · · · · · · · · · · · ·
Varistory Parish Council 5.218 160.99 32.41 1260.4 Wathor Parish Council 6.415 156.41 41.01 1.289.0 Madvern Hills Conservators (Mathon) 4.482 * 28.66 28.66 Sonncil 3.383 166.96 20.26 1.245.2 Workland and Stretion Parish Council 3.326 79.90 41.63 1.2656.3 Wuch Birch Parish Council 5.533 369.94 16.10 1.245.1 Wuch Birch Parish Council 3.437 200.49 17.14 1.245.1 Wuch Borwchurch Parish Council 3.267 248.15 13.17 1.241.2 Vuch Marcle Parish Council 3.437 200.49 17.14 1.245.1 Wuch Marcle Parish Council 3.677 248.15 13.17 1.241.2 Vuch Marcle Parish Council 6.707 163.28 41.06 1.260.3 Prophort Parish Council 1.22.57 378.70 3.237 1.260.3 Present Que Parish Council 2.268 141.59 16.02 1.244.0					
Mathon Parish Council 6.415 156.41 41.01 1,268.0 Viddleton-on-the-Hill and Leysters Group Parish 3.383 166.96 22.866 28.60 Viddleton-on-the-Hill and Leysters Group Parish 3.383 166.96 20.26 1.248.2 Ownkland and Stretford Parish Council 3.326 79.90 41.63 1.265.6 Moreton on Lugg Parish Council 3.437 200.49 17.14 1.245.1 Much Dewchurch Parish Council 3.437 200.49 17.14 1.245.1 Much Dewchurch Parish Council 3.67 248.15 13.17 1.245.1 Much Dewchurch Parish Council 2.673 249.75 10.70 1.236.6 Orten Parish Council 2.673 249.75 10.70 1.236.8 Orten Parish Council 16.861 442.18 3.63 1.267.2 Parendage Parish Council 12.267 378.70 32.37 1.260.1 Parend Parish Council 2.268 141.59 1.265.0 1.245.9 Parish Council 2.268 141.59 1.265.					
Valvern Hills Conservators (Mathon) 4.482 * 28.66 28.66 Viddelon-on-the-Hill and Leysters Group Parish 3.383 166.96 20.26 1.248.2 Council 3.326 79.90 41.63 1.269.2 Morkland and Stretford Parish Council 3.326 79.90 41.63 1.269.2 Wich Birch Parish Council 3.437 200.49 17.14 1.245.1 Wuch Cowarre Group Parish Council 3.437 200.49 17.14 1.244.2 Vuch Cowarre Group Parish Council 2.677 249.75 10.70 1.244.2 Vorth Bromyard Group Parish Council 2.677 249.75 10.70 1.238.6 Orcop Parish Council 6.707 163.28 41.09 1.269.3 Parish Council 8.207 186.25 43.60 1.271.3 Pernebrob Group Parish Council 2.267 220.09 23.39 1.261.9 Pernebrob Group Parish Council 2.267 220.09 23.31 1.263.0 Veter Aurish Council 2.267 220.09 23.31					
Wilddieton-on-the-Hill and Leysters Group Parish 166.96 20.26 Jouncil 3.383 166.96 20.26 1.248.2 Wonkland and Stretford Parish Council 13.203 278.80 47.36 1.2276.3 Work Birch Parish Council 3.437 200.49 17.14 1.243.0 Wuch Dewchurch Parish Council 3.437 200.49 17.14 1.245.1 Wuch Dewchurch Parish Council 3.467 248.15 13.17 1.244.1 Wuch Bwechurch Parish Council 4.671 286.76 16.29 1.244.2 Orace Parish Council 6.707 163.28 41.08 1.269.0 Orace Parish Council 6.707 163.28 41.08 1.266.1 Parebridge Parish Council 16.661 442.18 38.13 1.266.1 Pereombe Group Parish Council 2.257 378.70 32.37 1.260.0 Parebridge Parish Council 2.268 141.59 16.02 1.244.0 Parebridge Parish Council 2.267 378.70 32.37 1.260.2 Pare					
Council 3,383 166,96 20,26 11,248,2 Wonkland and Stretford Parish Council 3,326 79,90 41,63 1,269,6 Wort Rinch Parish Council 5,583 369,84 15,10 1,243,0 Wuch Brish Council 3,437 200,49 17,14 1,245,1 Wuch Dowsher Group Parish Council 3,437 200,49 17,14 1,244,2 Vuch Marcie Parish Council 2,677 248,15 13,17 1,241,2 Vuch Marcie Parish Council 2,673 249,75 10,70 1,244,2 Vorth Bromyard Group Parish Council 6,707 163,28 41,08 1,260,3 Parish Council 14,616 340,79 42,89 1,270,8 Perish Council 12,257 378,70 32,37 1,260,3 Perish Council 2,268 141,59 16,02 1,244,2 Perish Council 2,268 141,59 16,02 1,245,4 Perish Council 2,268 141,59 12,426,3 1,245,5 Vien and Ligé Parish Coun		4,402		20.00	20.00
Wonkland and Stretford Parish Council 3.326 79.90 41.63 1.2665 Much Birch Parish Council 13.203 278.80 47.36 1.275.3 Much Birch Parish Council 3.437 200.49 17.14 1.245.1 Much Cowarne Group Parish Council 3.437 200.49 17.14 1.245.1 Much Dewchurch Parish Council 3.267 248.15 13.17 1.246.1 North Bromyard Group Parish Council 6.707 163.28 41.08 1.240.4 Occe Parish Council 6.707 163.28 41.08 1.266.0 Parembridge Parish Council 16.661 442.18 38.13 1.266.1 Pernorbe Group Parish Council 12.257 378.70 32.37 1.260.1 Peraterich Parish Council 2.268 141.59 16.02 1.244.4 Parish Council 5.267 220.09 2.333 1.265.1 Valey & Districh Parish Council 5.267 220.09 2.333 1.265.2 Valey & Districh Parish Council 5.267 22.09 2.333		2 283	166.96	20.26	1 2/12 25
Woretor on Lugg Parish Council 13,203 278.80 47.36 1.275.3 Wuch Birch Parish Council 5,583 369.84 15.10 1.243.0 Wuch Cowarne Group Parish Council 3,437 200.49 17.14 1.245.1 Wuch Marcie Parish Council 3,437 200.49 17.14 1.245.1 Wuch Marcie Parish Council 3,640 307.26 12.200 1.244.2 Ortel Parish Council 6,707 163.28 41.08 1.266.0 Orteon Parish Council 14,616 340.79 42.89 1.276.8 Perembridge Parish Council 12,257 378.70 32.37 1.260.0 Perembridge Parish Council 12,257 378.70 32.37 1.260.3 Perembridge Parish Council 12,257 378.70 32.37 1.260.0 Perembridge Parish Council 12,257 378.70 32.37 1.260.5 Parish Council 12,257 378.70 33.31 1.261.9 Parish Council 12,257.3 378.70 33.31 1.251.9					
Wuch Birch Parish Council 5,583 368.84 15.10 1.243.03 Wuch Cowarne Group Parish Council 3,437 200.49 17.14 1.245.13 Wuch Dewchurch Parish Council 3,267 248.15 13.17 1.241.13 Wuch Baros Group Parish Council 3,840 307.26 12.50 1,244.23 Oxth Bromyard Group Parish Council 2,673 249.75 10.70 1.238.6 Droop Parish Council 6,707 163.28 41.068 1.266.1 Pernbridge Parish Council 14.616 340.79 42.89 1.270.8 Pernbridge Parish Council 8,207 188.25 43.60 1.271.5 Pernbridge Parish Council 3,359 181.69 18.49 1.266.1 Procombe Group Parish Council 2,268 141.59 16.02 1.244.0 Pare Al Lyde Parish Council 5,877 20.337 1.226.3 Valuey Abirish Council 5,877 23.63.1 17.53 1.245.5 Vichard Sacti Harish Council 12,978 36.51 1.275.73 1.245.3 <td></td> <td></td> <td></td> <td></td> <td></td>					
Wuch Cowarne Group Parish Council 3,437 200.49 17.14 1.245.1 Wuch Dewchurch Parish Council 3,267 248.15 13.17 1.241.1 Wuch Marcle Parish Council 4,671 286.76 16.29 1.244.2 Softe Bromyard Group Parish Council 2,673 249.75 10.70 1.238.6 Ocle Pychard Parish Council 6,707 163.28 41.08 1.266.0 Parish Council 14,616 340.79 42.89 1.270.8 Perhoridge Parish Council 12,257 378.70 32.37 1.80.0 1.271.5 Parentoride Parish Council 12,257 378.70 32.37 1.260.3 1.260.1 Parentoride Parish Council 2,268 141.59 16.02 1.244.0 Pise and Lyde Parish Council 5,267 220.09 23.93 1.261.9 Storad Parish Council 5,267 220.09 23.93 1.261.9 Storad Parish Council 5,897 345.31 17.53 1.245.0 Storad Parish Council 5,897 345.73					
Wuch Devchurch Parish Council 3,267 248.15 11.17 1.241.11 Wuch Marcle Parish Council 4,671 286.76 16.29 1.244.2 Vorth Bromyard Group Parish Council 3,840 307.26 12.50 1.240.4 Oler Pychard Parish Council 2,673 249.75 10.70 1.238.6 Drocop Parish Council 14,616 340.79 42.89 1.270.8 Pembridge Parish Council 18,825 43.60 1.271.5 Pencombe Group Parish Council 8,207 188.25 43.60 1.271.5 Petrothurch Parish Council 2,268 141.59 16.02 1.244.0 Valvely & Districh Parish Council 2,268 141.59 16.02 1.244.0 Valvely & Districh Parish Council 5,877 363.631 17.53 1.245.5 Valvely & Districh Parish Council 5,897 36.631 17.53 1.245.5 Valvely & Districh Council 17.978 3,157.33 54.79 1.282.7 Osson-Vye Town Council 12,866 145.07 23.89 1.2					
Wuch Marcle Parish Council 4.671 286.76 16.29 1.244.24 North Bromyard Group Parish Council 2.673 249.75 10.70 1.238.65 Orcop Parish Council 14.616 340.079 42.89 1.270.85 Orteton Parish Council 14.616 340.079 42.89 1.270.85 Pembridge Parish Council 14.661 340.079 42.89 1.270.85 Penbridge Parish Council 8.207 188.25 43.60 1.271.57 Peterchurch Parish Council 2.268 141.59 16.02 1.244.04 Patershurch Parish Council 2.268 141.59 16.02 1.244.04 Pipe and Lyde Parish Council 5.267 220.09 23.93 1.275.97 Putey Parish Council 5.267 33.631 17.53 1.245.5 Stichard's Castle (Herefordshire) Parish Council 5.267 33.631 17.53 1.245.73 Stepton Group Parish Council 5.267 33.631 17.53 1.245.73 Stepton Group Parish Council 1.2760 36.31 17					
North Bromyard Group Parish Council 3,840 307.26 12.50 1,240,4 Ode Pychard Parish Council 2,673 249.75 10.70 1,238,6 Orcop Parish Council 6,707 163.28 41.08 1,266.0 Pernotingb Parish Council 14,616 340.79 42.89 1,270.8 Pennotingb Parish Council 16,861 442.18 38.13 1,266.1 Pennotingb Parish Council 12,257 378.70 32.37 1,260.1 Peterstow Parish Council 2,268 141.59 16.02 1,246.4 Pipe and Lyde Parish Council 4,544 96.52 47.06 1,275.0 Pyons Group Parish Council 5,897 336.31 17.53 1,245.0 Stchard's Castle (Herefordshire) Parish Council 172.978 3,157.33 54.79 1,282.7 Stos Rural Parish Council 1,933 118.21 16.35 1,243.7 Stos Rural Parish Council 1,933 118.21 16.35 1,244.3 Stos Lacy Parish Council 1,8065 145.07 23.89					
Dele Pychard Parish Council 2.673 249.75 10.70 1.288.60 Drieton Parish Council 6.707 163.28 41.08 1.266.00 Drieton Parish Council 14.616 340.79 42.89 1.270.81 Pernbridge Parish Council 18,661 442.18 38.13 1.266.11 Pernbridge Parish Council 12,257 378.70 32.37 1.266.01 Peterstow Parish Council 2.268 141.59 16.02 1.244.0 Pare and Lyde Parish Council 2.268 141.59 16.02 1.244.0 Yatey & District Parish Council 5.267 220.09 23.93 1.251.9 Yons Group Parish Council 5.897 336.31 17.53 1.245.0 Sonson-Wye Town Council 172.978 3.157.33 54.79 1.282.7 Sonson-Wye Town Council 1.933 118.21 16.35 1.244.3 Shobon Parish Council 1.3065 317.01 41.21 1.262.9 State Advish Council 1.3065 314.05 1.251.0 1.251.0 </td <td></td> <td></td> <td></td> <td></td> <td>· · · · · · · · · · · · · · · · · · ·</td>					· · · · · · · · · · · · · · · · · · ·
Droop Parish Council 6,707 163.28 41.08 1,289.0 Drieton Parish Council 14,616 340.79 42.89 1,270.8 Pembridge Parish Council 16,661 442.18 38.13 1,266.1 Pencombe Group Parish Council 12,227 378.70 32.37 1,260.3 Peterchurch Parish Council 2,268 141.59 18.49 1,246.4 Pipe and Lyde Parish Council 5,267 220.09 23.33 1,251.9 Veltey Parish Council 5,467 366.31 17.53 1,245.5 Veltey Parish Council 5,867 336.31 17.53 1,245.5 Veltey Parish Council 2,760 405.76 6.60 1,234.7 Soss Rural Parish Council 1,729.78 3,157.33 54.79 1,282.7 Soss Rural Parish Council 1,760 405.76 6.60 1,244.5 Stautono-on-Wye Town Council 1,760 416.47 2.389 1,224.7 Selack Parish Council 3,465 145.07 23.89 1,224.0					· · · · · · · · · · · · · · · · · · ·
Drefon Parish Council 14,616 340,79 42,89 1,270.8 Permbridge Parish Council 16,861 442,18 38.13 1,266.1 Pernombe Group Parish Council 12,257 378,70 32.37 1,280.3 Peterstow Parish Council 2,359 181.69 18.49 1,246.4 Petarsh Council 2,268 141.59 16.02 1,244.0 Pikley & District Parish Council 4,544 96,52 47.08 1,275.0 Pyons Group Parish Council 5,897 336.31 17.53 1,245.5 Richard's Castle (Herefordshire) Parish Council 7,760 405.76 6.80 1,234.5 Schodr Dyr Town Council 172,978 3,157.33 54.79 1,282.7 Soss Rural Parish Council 1,303 118.21 16.35 1,244.3 Shobdon Parish Council 1,3065 317.01 41.21 1,259.2 Stapleton Group Parish Council 2,478 189.65 13.07 1,241.0 Stapleton Group Parish Council 4,466 139.80 34.38					· · · · · · · · · · · · · · · · · · ·
Dembridge Parish Council 16.861 442.18 38.13 1.266.1 Pancombe Group Parish Council 8,207 188.25 43.60 1.271.5 Percorkunch Parish Council 12,225 378.70 32.37 1.260.31 Pipe and Lyde Parish Council 2,268 141.59 16.02 1.244.4 Pipe and Lyde Parish Council 5,267 220.09 23.93 1.251.91 Valley & District Parish Council 5,897 336.31 17.53 1.245.53 Schard's Castle (Harefordshire) Parish Council 3,060 121.89 25.10 1.283.01 Schard's Castle (Harefordshire) Parish Council 1,72.978 3,157.33 54.79 1,282.7 Schard's Castle (Harefordshire) Parish Council 1,933 118.21 16.35 1.244.3 Schard's Castle (Harefordshire) Parish Council 1,933 317.01 41.21 1.269.4 Schard's Castle (Harefordshire) Parish Council 1,933 118.21 16.35 1.244.3 Schard's Castle (Harefordshire) Parish Council 1,933 118.21 16.35 1.244.3 <t< td=""><td>•</td><td></td><td></td><td></td><td></td></t<>	•				
Pencombe Group Parish Council 8,207 188.25 43.60 1.271.5 Petershurch Parish Council 12,257 378.70 32.37 1,260.3 Peterstow Parish Council 2,268 141.59 16.02 1,244.0 Pixel Age Barish Council 5,267 220.09 23.93 1,251.9 Ottley Parish Council 4,544 96.52 47.08 1,275.0 Syons Group Parish Council 5,897 336.31 17.53 1,245.0 Sichard's Castle (Herefordshire) Parish Council 3,060 121.89 25.10 1,253.0 Ross Rural Parish Council 1,733 118.21 16.35 1,244.0 Sichard's Castle (Herefordshire) Parish Council 1,3065 317.01 41.21 1,269.2 Sichard's Castle (Dure of the parish Council 13,065 317.01 41.21 1,269.2 Siche Council 3,465 145.07 23.99 1,221.9 Siche Council 3,465 13.07 1,221.9 Siche Castle Parish Council 4,625 147.06 31.45 1,225.9					
Peterchurch Parish Council 12,257 378.70 32.37 1,260.3 Peterstow Parish council 3,359 181.69 18.49 1,246.4 Type and Lyde Parish Council 2,268 141.59 16.02 1,244.0 Priley & District Parish Council 5,267 220.09 23.93 1,251.9 Putley Parish Council 5,807 336.31 17.53 1,245.0 Syons Group Parish Council 3,060 121.89 25.10 1,283.0 Ross-on-Wye Town Council 172.978 3,157.33 54.79 1,282.7 Soss Kural Parish Council 1,933 118.21 16.35 1,244.3 Shobdon Parish Council 1,933 118.21 16.35 1,244.3 Shobdon Parish Council 3,465 145.07 23.89 1,251.44 Stepton Group Parish Council 3,465 145.07 23.89 1,252.9 Steuton Schweing Chairman) - 43.38 - 1,227.9 1,255.0 Stretton Graugwas Parish Council 3,803 140.59 27.06 1,255.0 <td>*</td> <td></td> <td></td> <td></td> <td></td>	*				
Peterstow Parish council 3,359 181.69 18.49 1.246.4 Pipe and Lyde Parish Council 5,267 220.09 23.93 1.251.9 Putley District Parish Council 4,544 96.52 47.08 1.275.0 Putley Parish Council 4,544 96.52 47.08 1.275.0 Yons Group Parish Council 5,897 336.31 17.53 1.245.5 Sichard's Castle (Herefordshire) Parish Council 770.9 31,57.33 54.79 1.283.0 Ross Rural Parish Council 1,733 118.21 16.35 1.244.1 Silack Parish Council 1,3065 317.01 41.21 1.269.2 Silapleton Group Parish Council 3,465 145.07 23.89 1.251.3 Stapleton Group Parish Council 4,406 139.80 34.38 1.262.7 Stoke Lacy Parish Council 4,625 147.06 31.47 1.251.4 Stoke Lacy Parish Council 1,692 216.41 7.82 1.255.0 Stoke Lacy Parish Council 1,692 210.34 42.77					· · · · · · · · · · · · · · · · · · ·
Pipe and Lyde Parish Council 2,268 141.59 16.02 1,244.0 Neley & District Parish Council 5,267 220.09 23.93 1,251.9 Vultey Parish Council 4,544 96.52 47.08 1,275.0 Pyons Group Parish Council 5,897 336.31 17.53 1,245.05 Richard's Castle (Herefordshire) Parish Council 172.978 3,157.33 54.79 1,282.7 Ross-on-Wyer Town Council 172.978 3,157.33 54.79 1,282.7 Ross-Rural Parish Council 1,933 118.21 16.36 1,244.3 Shobdon Parish Council 1,3065 145.07 23.89 1,251.86 Stautono-NWye and District Group Parish Council 2,478 189.65 13.07 1,241.01 Stautono-NWye and District Group Parish Council 4,625 147.06 31.45 1,225.0 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Grandison Group Parish Council 1,692 147.06 31.45 1,275.0 Stretton Sugwas Parish Council </td <td></td> <td></td> <td></td> <td></td> <td></td>					
Pikey & District Parish Council 5,267 220.09 23.93 1,251.9. Putley Parish Council 4,544 96.52 47.08 1,275.0 Richard's Castle (Herefordshire) Parish Council 3,060 121.89 25.10 1,253.0 Richard's Castle (Herefordshire) Parish Council 2,760 405.76 6.80 1,234.7 Soes Rural Parish Council 2,760 405.76 6.80 1,234.7 Sellack Parish Council 1,933 118.21 16.35 1,244.3 Shobdon Parish Council 3,465 145.07 23.89 1,221.93 St Weonards Parish Council 3,465 145.07 23.89 1,221.93 Stauton-on-Wye and District Group Parish Council 2,478 189.65 13.07 1,241.0 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.93 Stoke Lacy Parish Council 1,692 216.41 7.82 1,225.0 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,225.0 Stoke Lacy Parish Council 3,803					
Putley Parish Council 4,544 96.52 47.08 1,275.0 Yons Group Parish Council 5,897 336.31 17.53 1,245.0 Sichard's Castle (Herefordshire) Parish Council 3,060 121.89 25.10 1,253.0 Ross-on-Wye Town Council 172,978 3,157.33 54.79 1,282.7 Soss Rural Parish Council 2,760 405.76 6.80 1,234.7 Sellack Parish Council 1,3085 317.01 41.21 1,269.2 Shobdon Parish Council 3,465 145.07 23.89 1,251.8 Staunton-on-Wye and District Group Parish Council 4,406 139.80 34.38 1,262.9 Stautono-on-Wye and District Group Parish Council 4,625 147.06 31.45 1,227.9 Stautono-on-Wye and District Group Parish Council 1,692 216.41 7.82 1,235.0 Stretton Standison Group Parish Council 1,692 216.41 7.82 1,225.0 Stretton Sugwas Parish Council 3,803 140.59 27.05 1,255.0 Sutton Parish Council <	Pixley & District Parish Council			23.93	1,251.92
Richard's Castle (Herefordshire) Parish Council 3,060 121.89 25.10 1,253.00 Ross-on-Wye Town Council 172,978 3,157.33 54.79 1,282.7 Soss Rural Parish Council 2,760 405.76 6.80 1,234.7 Sellack Parish Council 1,933 118.21 16.35 1,244.3 Shobdon Parish Council 3,465 145.07 23.89 1,251.8 Stapleton Group Parish Council 3,465 130.70 1,241.0 1,262.3 Stauton-on-Wye and District Group Parish Council 2,478 189.65 13.07 1,241.0 Stoke Lacy Parish Council 4,625 147.06 31.45 1,259.4 Stretton Sugwas Parish Council 1,682 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 1,682 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 3,083 140.59 27.05 1,255.0 Stretton Sugwas Parish Council 3,083 170.54 18.08 1,246.0 Stretton Sugmas Parish Council 3,083 1	Putley Parish Council	4,544		47.08	1,275.07
Richard's Castle (Herefordshire) Parish Council 3,060 121.89 25.10 1,253.00 Ross-on-Wye Town Council 172.978 3,757.33 54.79 1,282.7 Sess Rural Parish Council 2,760 405.76 6.80 1,234.7 Sellack Parish Council 1,933 118.21 16.35 1,244.3 Shobdon Parish Council 3,465 145.07 23.89 1,251.83 Stapleton Group Parish Council 2,478 189.65 13.07 1,241.0 Stoke Lacy Parish Council 4,805 147.06 31.45 1,259.4 Stauton-on-Wye and District Group Parish Council 4,625 147.06 31.45 1,259.4 Stoke Lacy Parish Council 4,625 147.06 31.45 1,259.4 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,255.0 Stretton Sugwas Parish Council 3,083 140.59 47.76 1,265.0 Stretton Sugwas Parish Council 3,083 170.54 18.08 1,245.0 Stretton Sugwas Parish Council 4,203 <	Pyons Group Parish Council	5,897	336.31	17.53	1,245.52
Ross Rural Parish Council 2,760 405.76 6.80 1,234.71 Sellack Parish Council 1,933 118.21 16.35 1,244.3 Shobdon Parish Council 3,465 317.01 41.21 1,635 Stapleton Group Parish Council 3,465 145.07 23.89 1,251.81 Stapleton Group Parish Council 4,806 139.80 34.38 1,262.3 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.94 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.94 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.94 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 17,690 369.64 47.86 1,277.95 1,251.05 Stutton Parish Council 17,690 369.64 47.86 1,276.71 1,270.71 Thornbury Group Parish Council 8,996 210.34 42.77 1,270.71 Thornbury Group Parish Council <td< td=""><td>Richard's Castle (Herefordshire) Parish Council</td><td>3,060</td><td>121.89</td><td>25.10</td><td>1,253.09</td></td<>	Richard's Castle (Herefordshire) Parish Council	3,060	121.89	25.10	1,253.09
Sellack Parish Council 1,933 118.21 16.35 1,244.3 Shobdon Parish Council 13,065 317.01 41.21 1,269.20 St. Weonards Parish Council 3,465 145.07 23.89 1,251.80 Stapleton Group Parish Council 4,806 139.80 34.38 1,262.33 Staunton-on-Wye and District Group Parish Council 2,478 189.65 13.07 1,241.00 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.94 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 17,690 369.64 47.86 1,275.94 Stretton Parish Council 17,690 369.64 47.86 1,275.87 Farrington Parish Council 3,083 140.59 27.05 1,255.05 Stretton Sugwas Parish Council 3,083 170.54 18.08 1,246.07 Thornburg Group Parish Council 3,083 170.54 18.08 1,246.07 Vachar Darish Council 4,203 219.60 <td>Ross-on-Wye Town Council</td> <td>172,978</td> <td>3,157.33</td> <td>54.79</td> <td>1,282.78</td>	Ross-on-Wye Town Council	172,978	3,157.33	54.79	1,282.78
Shobdon Parish Council 13,065 317.01 41.21 1,269.20 St. Weonards Parish Council 3,465 145.07 23,89 1,251.8 Stapleton Group Parish Council 4,806 139.80 34.38 1,262.8 Staunton-on-Wye and District Group Parish Council 2,478 189.65 13.07 1,241.0 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.93 Stoke Lacy Parish Council 4,625 147.06 31.45 1,259.4 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 3,803 140.59 27.05 1,255.0 Sutton Parish Council 3,083 170.54 18.08 1,247.07 Thornbury Group Parish Council 3,083 170.54 18.08 1,246.0 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.11 Joton Bishop Parish Council 4,203 219.60 19.14 1,247.01 Vellington Parish Council 5,691	Ross Rural Parish Council	2,760	405.76	6.80	1,234.79
St. Weonards Parish Council 3,465 145.07 23.89 1,251.86 Stapleton Group Parish Council 4,806 139.80 34.38 1,262.37 Staunton-on-Wye and District Group Parish Council 2,478 189.65 13.07 1,241.0 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.9 Stoke Lacy Parish Council 4,625 147.06 31.45 1,259.4 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 3,803 140.59 27.05 1,256.0 Sutton Parish Council 8,996 210.34 42.77 1,270.7 Thornbury Group Parish Council 8,996 210.34 42.77 1,247.00 Thornbury Group Parish Council 3,083 170.54 18.08 1,246.00 Titley and District Group Parish Council 8,404 250.64 33.53 1,261.55 Vowchurch & District Group Parish Council 5,691 299.59 19.00 1,246.90 Nellington Parish Council 5,064 33.53 1,261.55 145.89 1,278.80	Sellack Parish Council	1,933	118.21	16.35	1,244.34
Stapleton Group Parish Council 4,806 139.80 34.38 1,262.3 Staunton-on-Wye and District Group Parish Council 2,478 189.65 13.07 1,241.0 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.9 Stoke Lacy Parish Council 4,625 147.06 31.45 1,259.4 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 3,803 140.59 27.05 1,255.0 Sutton Parish Council 3,083 170.54 18.08 1,246.0 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.0 Jpton Bishop Parish Council 4,203 219.60 19.14 1,247.1 Jpton Bishop Parish Council 5,691 299.59 19.00 1,246.9 Venchurch & District Group Parish Council 5,691 299.59 19.00 1,246.9 Venchurch & Llanrothal Group Parish Council 7,215 223.97 32.21 1,260.0 Vellington Heath Parish Council	Shobdon Parish Council	13,065	317.01	41.21	1,269.20
Staunton-on-Wye and District Group Parish Council 2,478 189.65 13.07 1,241.00 Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.95 Stoke Lacy Parish Council 4,625 147.06 31.45 1,225.94 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 3,803 140.59 27.05 1,255.00 Sutton Parish Council 17,690 369.64 47.86 1,275.87 Farrington Parish Council 8,996 210.34 42.77 1,270.77 Thornbury Group Parish Council 3,083 170.54 18.08 1,246.07 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.17 Jpton Bishop Parish Council 8,404 250.64 33.53 1,261.57 Valtord Parish Council 8,404 250.64 33.53 1,261.67 Valtord Parish Council 15,145 628.34 24.10 1,252.07 Valpton Bishop Parish Council 7,215 <td< td=""><td>St. Weonards Parish Council</td><td>3,465</td><td>145.07</td><td>23.89</td><td>1,251.88</td></td<>	St. Weonards Parish Council	3,465	145.07	23.89	1,251.88
Stoke Edith Parish Meeting (Chairman) - 43.38 - 1,227.93 Stoke Lacy Parish Council 4,625 147.06 31.45 1,259.4 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 3,803 140.59 27.05 1,275.8 Sutton Parish Council 3,803 140.59 27.05 1,275.8 Tarrington Parish Council 8,996 210.34 42.77 1,270.7 Thornbury Group Parish Council 3,083 170.54 18.08 1,246.0 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.1 Upton Bishop Parish Council 8,404 250.64 33.53 1,261.57 Vawchurch & District Group Parish Council 5,691 299.59 19.00 1,246.07 Valiford Parish Council 20,745 408.25 50.81 1,278.8 Valington Parish Council 7,215 223.97 32.21 1,260.20 Wellington Heath Parish Council 9,207 428.84 <td></td> <td>4,806</td> <td></td> <td>34.38</td> <td>1,262.37</td>		4,806		34.38	1,262.37
Stoke Lacy Parish Council 4,625 147.06 31.45 1,259.4 Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 3,803 140.59 27.05 1,255.0 Sutton Parish Council 17,690 369.64 47.86 1,275.8 Farrington Parish Council 8,996 210.34 42.77 1,270.7 Thornbury Group Parish Council 3,083 170.54 18.08 1,246.0 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.13 Jpton Bishop Parish Council 8,404 250.64 33.53 1,261.55 Vowchurch & District Group Parish Council 5,691 299.59 19.00 1,246.93 Valiord Parish Council 20,745 408.25 50.81 1,278.84 Nellington Parish Council 7,215 223.97 32.21 1,260.24 Wellington Heath Parish Council 7,215 223.97 32.21 1,269.44 Neston Beggard Parish Council 9,207 428.84	· · · · ·	2,478		13.07	1,241.06
Stretton Grandison Group Parish Council 1,692 216.41 7.82 1,235.8 Stretton Sugwas Parish Council 3,803 140.59 27.05 1,255.0 Sutton Parish Council 17,690 369.64 47.86 1,275.8 Tarrington Parish Council 8,996 210.34 42.77 1,270.7 Thornbury Group Parish Council 3,083 170.54 18.08 1,246.00 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.13 Jpton Bishop Parish Council 8,404 250.64 33.53 1,261.53 Vowchurch & District Group Parish Council 5,691 299.59 19.00 1,246.93 Wellington Parish Council 15,145 628.34 24.10 1,252.07 Wellington Parish Council 7,215 223.97 32.21 1,260.27 Welsh Newton & Llanothal Group Parish Council 6,655 136.51 45.89 1,273.84 Meeston Beggard Parish Council 9,207 428.84 21.47 1,249.44 Neston-under-Penyard Parish Council <td< td=""><td></td><td>-</td><td></td><td>-</td><td>1,227.99</td></td<>		-		-	1,227.99
Stretton Sugwas Parish Council 3,803 140.59 27.05 1,255.00 Sutton Parish Council 17,690 369.64 47.86 1,275.80 Tarrington Parish Council 8,996 210.34 42.77 1,270.70 Thornbury Group Parish Council 3,083 170.54 18.08 1,246.00 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.11 Jpton Bishop Parish Council 8,694 250.64 33.53 1,261.57 /owchurch & District Group Parish Council 5,691 299.59 19.00 1,246.97 Walford Parish Council 15,145 628.34 24.10 1,252.07 Wallington Parish Council 20,745 408.25 50.81 1,278.87 Wellington Heath Parish Council 7,215 223.97 32.21 1,260.27 Welsh Newton & Llanrothal Group Parish Council 6,265 136.51 45.89 1,278.87 Neobley Parish Council 9,207 428.84 21.47 1,249.44 Meston-under-Penyard Parish Council 6,659					1,259.44
Sutton Parish Council 17,690 369.64 47.86 1,275.83 Tarrington Parish Council 8,996 210.34 42.77 1,270.74 Thornbury Group Parish Council 3,083 170.54 18.08 1,246.07 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.13 Jpton Bishop Parish Council 8,404 250.64 33.53 1,261.55 Vowchurch & District Group Parish Council 5,691 299.59 19.00 1,246.07 Walford Parish Council 20,745 408.25 50.81 1,275.83 Wellington Parish Council 20,745 408.25 50.81 1,278.83 Wellington Heath Parish Council 7,215 223.97 32.21 1,260.27 Welsh Newton & Llanrothal Group Parish Council 6,265 136.51 45.89 1,273.83 Weston Beggard Parish Council 9,207 428.84 21.47 1,249.44 Meston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.37 Whitbourne Parish Council 8,435 <td>•</td> <td></td> <td></td> <td></td> <td>1,235.81</td>	•				1,235.81
Tarrington Parish Council8,996210.3442.771,270.74Thornbury Group Parish Council3,083170.5418.081,246.00Titley and District Group Parish Council4,203219.6019.141,247.13Jpton Bishop Parish Council8,404250.6433.531,261.52/owchurch & District Group Parish Council5,691299.5919.001,246.93/walford Parish Council15,145628.3424.101,252.09/Walford Parish Council20,745408.2550.811,278.81/Wellington Parish Council7,215223.9732.211,260.20Wellington Heath Parish Council6,265136.5145.891,273.81Neobley Parish Council9,207428.8421.471,249.44Neston Beggard Parish Council9,207428.8421.471,249.44Neston Beggard Parish Council6,659462.5814.401,242.33Mhitbourne Parish Council8,435315.2226.761,254.77Mhitbourne Parish Council13,653337.7040.431,268.44Mithourne Parish Council13,653337.7040.431,268.44Mithourne Parish Council13,653337.7040.431,268.44Mithourne Parish Council13,653337.7040.431,268.44Mithourne Parish Council13,653337.7040.431,268.44Molohope Parish Council13,805588.0423.481,251.47Noolhope Parish Council </td <td></td> <td></td> <td></td> <td></td> <td>1,255.04</td>					1,255.04
Thornbury Group Parish Council 3,083 170.54 18.08 1,246.0 Titley and District Group Parish Council 4,203 219.60 19.14 1,247.13 Jpton Bishop Parish Council 8,404 250.64 33.53 1,261.55 /owchurch & District Group Parish Council 5,691 299.59 19.00 1,246.93 /Malford Parish Council 15,145 628.34 24.10 1,252.05 /Wellington Parish Council 20,745 408.25 50.81 1,278.83 /Wellington Heath Parish Council 7,215 223.97 32.21 1,260.20 /Welsh Newton & Llanrothal Group Parish Council 6,265 136.51 45.89 1,273.83 /Weston Beggard Parish Council 9,207 428.84 21.47 1,249.44 /Weston Beggard Parish Council 977 85.17 11.47 1,239.44 /Weston-under-Penyard Parish Council 8,435 315.22 26.76 1,254.77 /Mitbourne Parish Council 14,496 477.10 30.38 1,258.37 /Whitbourne Parish Council <					1,275.85
Titley and District Group Parish Council4,203219.6019.141,247.13Jpton Bishop Parish Council8,404250.6433.531,261.55Vowchurch & District Group Parish Council5,691299.5919.001,246.99Walford Parish Council15,145628.3424.101,252.09Wellington Parish Council20,745408.2550.811,278.80Wellington Heath Parish Council7,215223.9732.211,260.20Welsh Newton & Llanrothal Group Parish Council6,265136.5145.891,273.80Neobley Parish Council9,207428.8421.471,249.40Weston Beggard Parish Council9,77785.1711.471,239.40Neston-under-Penyard Parish Council6,659462.5814.401,242.33Nhitbourne Parish Council14,496477.1030.381,258.33Nigmore Group Parish Council13,653337.7040.431,268.42Nithington Group Parish Council13,805588.0423.481,251.47Noolhope Parish Council4,910206.2623.801,251.77Weside Group Parish Council6,274295.7121.221,249.22Yarkhill Parish Council6,274295.7121.221,249.22Yarkhill Parish Council3,832132.4328.941,256.92					
Upton Bishop Parish Council 8,404 250.64 33.53 1,261.55 Vowchurch & District Group Parish Council 5,691 299.59 19.00 1,246.99 Walford Parish Council 15,145 628.34 24.10 1,252.09 Wellington Parish Council 20,745 408.25 50.81 1,278.80 Wellington Heath Parish Council 7,215 223.97 32.21 1,260.20 Welsh Newton & Llanrothal Group Parish Council 6,265 136.51 45.89 1,273.80 Neobley Parish Council 9,207 428.84 21.47 1,249.40 Neston Beggard Parish Council 9,777 85.17 11.47 1,239.40 Neston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.33 Nhitbourne Parish Council 8,435 315.22 26.76 1,254.73 Nhitchurch & Ganarew Group Parish Council 14,496 477.10 30.38 1,258.33 Nigmore Group Parish Council 13,653 337.70 40.43 1,268.42 Winington Group Parish Council 13,8					
Vowchurch & District Group Parish Council5,691299.5919.001,246.99Walford Parish Council15,145628.3424.101,252.09Wellington Parish Council20,745408.2550.811,278.89Wellington Heath Parish Council7,215223.9732.211,260.29Welsh Newton & Llanrothal Group Parish Council6,265136.5145.891,273.89Neobley Parish Council9,207428.8421.471,249.49Weston Beggard Parish Council97785.1711.471,239.44Neston-under-Penyard Parish Council6,659462.5814.401,242.39Whitbourne Parish Council8,435315.2226.761,254.79Whitbourne Parish Council13,653337.7040.431,268.47Whithington Group Parish Council13,805588.0423.481,251.47Woolhope Parish Council4,910206.2623.801,251.77Wyeside Group Parish Council6,274295.7121.221,249.27Yarkhill Parish Council3,832132.4328.941,256.97					
Walford Parish Council 15,145 628.34 24.10 1,252.00 Wellington Parish Council 20,745 408.25 50.81 1,278.80 Wellington Heath Parish Council 7,215 223.97 32.21 1,260.20 Welsh Newton & Llanrothal Group Parish Council 6,265 136.51 45.89 1,273.80 Weobley Parish Council 9,207 428.84 21.47 1,249.40 Weston Beggard Parish Council 977 85.17 11.47 1,239.40 Weston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.33 Whitbourne Parish Council 8,435 315.22 26.76 1,254.73 Whitbourne Parish Council 14,496 477.10 30.38 1,258.33 Wigmore Group Parish Council 13,653 337.70 40.43 1,268.43 Withington Group Parish Council 13,805 588.04 23.48 1,251.47 Woolhope Parish Council 4,910 206.26 23.80 1,251.77 Woolhope Parish Council 6,274 295.71					
Wellington Parish Council 20,745 408.25 50.81 1,278.80 Wellington Heath Parish Council 7,215 223.97 32.21 1,260.20 Welsh Newton & Llanrothal Group Parish Council 6,265 136.51 45.89 1,273.80 Weobley Parish Council 9,207 428.84 21.47 1,249.40 Weston Beggard Parish Council 977 85.17 11.47 1,249.40 Neston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.33 Whitbourne Parish Council 8,435 315.22 26.76 1,254.75 Whitbourne Parish Council 14,496 477.10 30.38 1,268.47 Whitchurch & Ganarew Group Parish Council 13,653 337.70 40.43 1,268.47 Withington Group Parish Council 13,805 588.04 23.48 1,251.77 Woolhope Parish Council 4,910 206.26 23.80 1,251.77 Woolhope Parish Council 6,274 295.71 21.22 1,249.27 Yarkhill Parish Council 6,274 295.71	•				
Wellington Heath Parish Council 7,215 223.97 32.21 1,260.20 Welsh Newton & Llanrothal Group Parish Council 6,265 136.51 45.89 1,273.80 Weobley Parish Council 9,207 428.84 21.47 1,249.40 Weston Beggard Parish Council 977 85.17 11.47 1,239.40 Weston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.30 Whitbourne Parish Council 8,435 315.22 26.76 1,254.75 Whitchurch & Ganarew Group Parish Council 14,496 477.10 30.38 1,258.37 Wigmore Group Parish Council 13,653 337.70 40.43 1,268.47 Woolhope Parish Council 13,805 588.04 23.48 1,251.47 Woolhope Parish Council 4,910 206.26 23.80 1,251.75 Wyeside Group Parish Council 6,274 295.71 21.22 1,249.27 Yarkhill Parish Council 3,832 132.43 28.94 1,256.95					
Welsh Newton & Llanrothal Group Parish Council 6,265 136.51 45.89 1,273.8 Weobley Parish Council 9,207 428.84 21.47 1,249.44 Weston Beggard Parish Council 977 85.17 11.47 1,239.44 Weston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.33 Weston-under-Penyard Parish Council 8,435 315.22 26.76 1,254.75 Whitbourne Parish Council 14,496 477.10 30.38 1,258.33 Wigmore Group Parish Council 13,653 337.70 40.43 1,268.44 Withington Group Parish Council 13,805 588.04 23.48 1,251.44 Woolhope Parish Council 4,910 206.26 23.80 1,251.74 Wyeside Group Parish Council 6,274 295.71 21.22 1,249.22 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Weobley Parish Council 9,207 428.84 21.47 1,249.44 Weston Beggard Parish Council 977 85.17 11.47 1,239.44 Weston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.33 Whitbourne Parish Council 8,435 315.22 26.76 1,254.74 Whitbourne Parish Council 14,496 477.10 30.38 1,258.33 Wigmore Group Parish Council 13,653 337.70 40.43 1,268.44 Withington Group Parish Council 13,805 588.04 23.48 1,251.44 Woolhope Parish Council 4,910 206.26 23.80 1,251.74 Wyeside Group Parish Council 6,274 295.71 21.22 1,249.22 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Weston Beggard Parish Council 977 85.17 11.47 1,239.44 Weston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.33 Whitbourne Parish Council 8,435 315.22 26.76 1,254.73 Whitchurch & Ganarew Group Parish Council 14,496 477.10 30.38 1,258.33 Wigmore Group Parish Council 13,653 337.70 40.43 1,268.43 Withington Group Parish Council 13,805 588.04 23.48 1,251.43 Woolhope Parish Council 4,910 206.26 23.80 1,251.74 Wyeside Group Parish Council 6,274 295.71 21.22 1,249.22 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Weston-under-Penyard Parish Council 6,659 462.58 14.40 1,242.33 Whitbourne Parish Council 8,435 315.22 26.76 1,254.73 Whitbourne Parish Council 14,496 477.10 30.38 1,258.33 Wigmore Group Parish Council 13,653 337.70 40.43 1,268.43 Withington Group Parish Council 13,805 588.04 23.48 1,251.43 Woolhope Parish Council 4,910 206.26 23.80 1,251.74 Wyeside Group Parish Council 6,274 295.71 21.22 1,249.22 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Whitbourne Parish Council 8,435 315.22 26.76 1,254.79 Whitchurch & Ganarew Group Parish Council 14,496 477.10 30.38 1,258.37 Wigmore Group Parish Council 13,653 337.70 40.43 1,268.47 Withington Group Parish Council 13,805 588.04 23.48 1,251.47 Woolhope Parish Council 4,910 206.26 23.80 1,251.74 Wyeside Group Parish Council 6,274 295.71 21.22 1,249.27 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Whitchurch & Ganarew Group Parish Council 14,496 477.10 30.38 1,258.33 Wigmore Group Parish Council 13,653 337.70 40.43 1,268.43 Withington Group Parish Council 13,805 588.04 23.48 1,251.43 Woolhope Parish Council 4,910 206.26 23.80 1,251.74 Wyeside Group Parish Council 6,274 295.71 21.22 1,249.22 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Wigmore Group Parish Council 13,653 337.70 40.43 1,268.42 Withington Group Parish Council 13,805 588.04 23.48 1,251.42 Noolhope Parish Council 4,910 206.26 23.80 1,251.72 Nyeside Group Parish Council 6,274 295.71 21.22 1,249.22 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Withington Group Parish Council 13,805 588.04 23.48 1,251.4 Woolhope Parish Council 4,910 206.26 23.80 1,251.7 Wyeside Group Parish Council 6,274 295.71 21.22 1,249.2 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Woolhope Parish Council 4,910 206.26 23.80 1,251.79 Myeside Group Parish Council 6,274 295.71 21.22 1,249.29 Yarkhill Parish Council 3,832 132.43 28.94 1,256.99					
Wyeside Group Parish Council 6,274 295.71 21.22 1,249.2 Yarkhill Parish Council 3,832 132.43 28.94 1,256.93					
Yarkhill Parish Council 3,832 132.43 28.94 1,256.9					

Council Tax for each valuation band, by Pa	arish, with	out the Po	olice & Fir	e precep	<u>ts</u>			
PARISH				VALUATIO	ON BANDS			
	Α	В	С	D	Е	F	G	Н
Abb sudans & Dastan Oraun Davish Osurall	£	£	£	£	£	£	£	£
Abbeydore & Bacton Group Parish Council Aconbury Parish Meeting	849.33 820.91	990.89 957.72	1,132.45 1,094.55	1,274.00 1,231.36	1,557.11 1,505.00	1,840.22 1,778.63	2,123.33 2,052.27	2,548.00 2,462.72
Acton Beauchamp Group Parish Council	829.33	967.55	1,105.78	1,244.00	1,520.45	1,796.89	2,032.27	2,488.00
Allensmore Parish Council	824.05	961.39	1,098.74	1,236.08	1,510.77	1,785.45	2,060.13	2,472.16
Almeley Parish Council	838.15	977.84	1,117.54	1,257.23	1,536.62	1,816.00	2,095.38	2,514.46
Ashperton Parish Council	836.54	975.96	1,115.39	1,254.81	1,533.66	1,812.50	2,091.35	2,509.62
Aston Ingham Parish Council	826.70	964.48	1,102.27	1,240.05	1,515.62	1,791.18	2,066.75	2,480.10
Avenbury Parish Council Aymestrey Parish Council	840.22 830.70	980.25 969.15	1,120.30 1,107.60	1,260.33	1,540.41 1,522.95	1,820.47 1,799.85	2,100.55 2,076.75	2,520.66 2,492.10
Ballingham, Bolstone & Hentland Group	827.97	965.96	1,107.00	1,240.05	1,517.94	1,793.92	2,070.73	2,492.10
Bartestree & Lugwardine Group Parish Council	837.43	976.99	1,116.57	1,256.14	1,535.29	1,814.42	2,093.57	2,512.28
Belmont Rural Parish Council	842.24	982.61	1,122.99	1,263.36	1,544.11	1,824.85	2,105.60	2,526.72
Birley with Upper Hill Parish Council	828.75	966.88	1,105.01	1,243.13	1,519.38	1,795.63	2,071.88	2,486.26
Bishop's Frome Parish Council	863.49	1,007.40	1,151.32	1,295.23	1,583.06	1,870.88	2,158.72	2,590.46
Bishopstone & District Group Parish Council Bodenham Parish Council	832.47	971.22	1,109.97	1,248.71	1,526.20	1,803.69	2,081.18	2,497.42
Border Group Parish Council	832.98 834.76	971.81 973.88	1,110.64 1,113.02	1,249.47 1,252.14	1,527.13 1,530.40	1,804.79 1,808.64	2,082.45 2,086.90	2,498.94 2,504.28
Bosbury and Coddington Parish Council	836.47	975.87	1,115.29	1,254.70	1,533.53	1,808.04	2,080.90	2,504.28
Brampton Abbots & Foy Group Parish Council	824.56	961.98	1,099.42	1,236.84	1,511.70	1,786.54	2,061.40	2,473.68
Bredenbury & District Group Parish Council	841.03	981.19	1,121.37	1,261.54	1,541.89	1,822.22	2,102.57	2,523.08
Breinton Parish Council	832.20	970.90	1,109.60	1,248.30	1,525.70	1,803.10	2,080.50	2,496.60
Bridstow Parish Council	827.23	965.10	1,102.98	1,240.85	1,516.60	1,792.34	2,068.08	2,481.70
Brilley Parish Council	844.60	985.36	1,126.14	1,266.90	1,548.44	1,829.96	2,111.50	2,533.80
Brimfield and Little Hereford Group Parish Council	831.05	969.56	1,108.07	1,246.58	1,523.60	1,800.61	2,077.63	2,493.16
Brockhampton with Much Fawley Parish Council Brockhampton Group Parish Council	844.91 834.21	985.72 973.25	1,126.55 1,112.29	1,267.36 1,251.32	1,549.00 1,529.39	1,830.63 1,807.46	2,112.27 2,085.53	2,534.72 2,502.64
Bromyard & Winslow Town Council	892.79	1,041.59	1,190.39	1,339.19	1,636.79	1,934.38	2,000.00	2,678.38
Burghill Parish Council	832.10	970.78	1,109.47	1,248.15	1,525.52	1,802.88	2,080.25	2,496.30
Callow & Haywood Group Parish Council	836.07	975.41	1,114.76	1,254.10	1,532.79	1,811.47	2,090.17	2,508.20
Clehonger Parish Council	834.23	973.27	1,112.31	1,251.35	1,529.43	1,807.50	2,085.58	2,502.70
Clifford Parish Council	829.02	967.19	1,105.36	1,243.53	1,519.87	1,796.21	2,072.55	2,487.06
Colwall Parish Council (inc Malvern Hills Conservators)	870.59	1,015.68	1,160.79	1,305.88	1,596.08	1,886.27	2,176.47	2,611.76
Cradley Parish Council Credenhill Parish Council	839.73 835.30	979.69 974.51	1,119.65 1,113.74	1,259.60	1,539.51	1,819.42 1,809.81	2,099.33	2,519.20 2,505.90
Cusop Parish Council	846.29	974.31 987.34	1,113.74	1,252.95	1,531.39 1,551.54	1,833.63	2,088.25 2,115.73	2,505.90
Dilwyn Parish Council	844.08	984.76	1,125.44	1,266.12	1,547.48	1,828.84	2,110.20	2,532.24
Dinedor Parish Council	848.32	989.70	1,131.10	1,272.48	1,555.26	1,838.02	2,120.80	2,544.96
Dinmore Parish Meeting	818.66	955.10	1,091.55	1,227.99	1,500.88	1,773.76	2,046.65	2,455.98
Dormington & Mordiford Group Parish Council	846.18	987.21	1,128.24	1,269.27	1,551.33	1,833.39	2,115.45	2,538.54
Dorstone Parish Council	828.60	966.70	1,104.80	1,242.90	1,519.10	1,795.30	2,071.50	2,485.80
Eardisland Parish Council	864.09	1,008.10	1,152.12	1,296.13	1,584.16	1,872.18	2,160.22	2,592.26
Eardisley Group Parish Council Eastnor & Donnington Parish Council	830.20 835.57	968.56 974.82	1,106.94 1,114.09	1,245.30 1,253.35	1,522.04 1,531.88	1,798.76 1,810.39	2,075.50 2,088.92	2,490.60 2,506.70
Eaton Bishop Parish Council	836.05	974.82	1,114.09	1,253.07	1,532.76	1,811.43	2,080.92	2,508.14
Ewyas Harold Group Parish Council	842.88	983.36	1,123.84	1,264.32	1,545.28	1,826.24	2,107.20	2,528.64
Fownhope Parish Council	849.46	991.03	1,132.62	1,274.19	1,557.35	1,840.49	2,123.65	2,548.38
Foxley Group Parish Council	825.56	963.15	1,100.75	1,238.34	1,513.53	1,788.71	2,063.90	2,476.68
Garway Parish Council	859.43	1,002.66	1,145.91	1,289.14	1,575.62	1,862.09	2,148.57	2,578.28
Goodrich & Welsh Bicknor Group Parish Council	832.84	971.64	1,110.46	1,249.26	1,526.88	1,804.48	2,082.10	2,498.52
Hampton Bishop Parish Council	851.75	993.70	1,135.67	1,277.62	1,561.54	1,845.45 1,773.76	2,129.37	2,555.24
Hampton Charles Parish Meeting Hatfield and District Group Parish Council	818.66 826.17	955.10 963.87	1,091.55 1,101.57	1,227.99 1,239.26	1,500.88 1,514.65	1,7790.04	2,046.65 2,065.43	2,455.98 2,478.52
Hereford City Council	846.25	987.29	1,128.34	1,269.38	1,551.47	1,833.55	2,000.40	2,538.76
Holme Lacy Parish Council	870.69	1,015.81	1,160.93	1,306.04	1,596.27	1,886.50	2,176.73	2,612.08
Holmer & Shelwick Parish Council	825.95	963.61	1,101.27	1,238.93	1,514.25	1,789.56	2,064.88	2,477.86
Hope Mansell Parish Council	825.86	963.50	1,101.15	1,238.79	1,514.08	1,789.36	2,064.65	2,477.58
Hope under Dinmore Group Parish Council	833.13	971.98	1,110.84	1,249.69	1,527.40	1,805.10	2,082.82	2,499.38
How Caple, Sollershope & Yatton Group Parish Council	839.73	979.68	1,119.64	1,259.59	1,539.50	1,819.40	2,099.32	2,519.18
Humber, Stoke Prior & Ford Group Parish Council	827.50	965.41	1,103.34	1,241.25	1,517.09	1,792.91 1,793.53	2,068.75	2,482.50
Huntington Parish Council Kentchurch Parish Council	827.79 858.13	965.75 1,001.14	1,103.72	1,241.68	1,517.61 1,573.24	1,793.53	2,069.47 2,145.32	2,483.36 2,574.38
Kilpeck Group Parish Council	854.11	996.46	1,138.82	1,281.17	1,565.88	1,850.58	2,145.32	2,562.34
Kimbolton Parish Council	836.28	975.66	1,115.04	1,254.42	1,533.18	1,811.94	2,090.70	2,508.84
Kings Caple Parish Council	849.25	990.79	1,132.34	1,273.88	1,556.97	1,840.05	2,123.13	2,547.76
Kingsland Parish Council	832.93	971.74	1,110.57	1,249.39	1,527.04	1,804.67	2,082.32	2,498.78
Kingstone & Thruxton Group Parish Council	831.05	969.56	1,108.07	1,246.58	1,523.60	1,800.61	2,077.63	2,493.16
Kington Rural and Lower Harpton Group Parish Council	830.05	968.38	1,106.73	1,245.07	1,521.76	1,798.43	2,075.12	2,490.14
Kington Town Council	861.40	1,004.96	1,148.54	1,292.10	1,579.24	1,866.36	2,153.50	2,584.20
Kinnersley and District Group Parish Council Lea Parish Council	827.41 843.65	965.31 984.26	1,103.22 1,124.87	1,241.12 1,265.48	1,516.93 1,546.70	1,792.73 1,827.91	2,068.53 2,109.13	2,482.24 2,530.96
Ledbury Town Council	867.73	1,012.35	1,124.07	1,301.60	1,540.70	1,880.09	2,109.13	2,530.96
Leintwardine Group Parish Council	840.03	980.03	1,120.04	1,260.04	1,540.05	1,820.05	2,100.07	2,520.08
Leominster Town Council	858.55	1,001.64	1,144.74	1,287.83	1,574.02	1,860.20	2,146.38	2,575.66

Council Tax for each valuation band, by Pa	arish, with	out the Po	olice & Fi	re precept	S			
PARISH				VALUATIC	N BANDS			
	A	В	С	D	E	F	G	Н
Linton Parish Council	£ 827.25	£ 965.13	£ 1,103.01	£ 1,240.88	£ 1,516.63	£ 1,792.38	£ 2,068.13	£ 2,481.76
Little Birch Parish Council	837.43	976.99	1,116.57	1,240.00	1,510.03	1,814.42	2,000.13	2,401.70
Little Dewchurch Parish Council	846.54	987.63	1,128.72	1,269.81	1,551.99	1,834.17	2,116.35	2,539.62
Llangarron Parish Council	825.70	963.31	1,100.94	1,238.55	1,513.79	1,789.01	2,064.25	2,477.10
Llanwarne & District Group Parish Council	823.63	960.90	1,098.18	1,235.45	1,510.00	1,784.54	2,059.08	2,470.90
Longtown Group Parish Council	827.47	965.37	1,103.29	1,241.20	1,517.03	1,792.84	2,068.67	2,482.40
Lower Bullingham Parish Council	839.11	978.96	1,118.82	1,258.67	1,538.38	1,818.08	2,097.78	2,517.34
Luston Group Parish Council Lyonshall Parish Council	836.55 842.57	975.98 983.00	1,115.41 1,123.43	1,254.83 1,263.86	1,533.68 1,544.72	1,812.53 1,825.57	2,091.38 2,106.43	2,509.66 2,527.72
Madley Parish Council	832.53	971.28	1,120.43	1,248.79	1,526.30	1,803.80	2,081.32	2,327.72
Marden Parish Council	840.11	980.12	1,120.15	1,260.16	1,540.20	1,820.23	2,100.27	2,520.32
Marstow Parish Council	840.27	980.31	1,120.36	1,260.40	1,540.49	1,820.57	2,100.67	2,520.80
Mathon Parish Council (inc Malvern Hills Conservators)	865.11	1,009.29	1,153.48	1,297.66	1,586.03	1,874.40	2,162.77	2,595.32
Middleton-on-the-Hill and Leysters Group Parish Council	832.17	970.86	1,109.56	1,248.25	1,525.64	1,803.02	2,080.42	2,496.50
Monkland and Stretford Parish Council	846.41	987.48	1,128.55	1,269.62	1,551.76	1,833.89	2,116.03	2,539.24
Moreton on Lugg Parish Council Much Birch Parish Council	850.23 828.73	991.94	1,133.65	1,275.35	1,558.76	1,842.17	2,125.58	2,550.70
Much Birch Parish Council Much Cowarne Group Parish Council	830.09	966.84 968.43	1,104.97 1,106.79	1,243.09 1,245.13	1,519.34 1,521.83	1,795.57 1,798.52	2,071.82 2,075.22	2,486.18 2,490.26
Much Dewchurch Parish Council	827.44	965.34	1,103.26	1,245.13	1,521.83	1,798.52	2,075.22	2,490.20
Much Marcle Parish Council	829.52	967.77	1,106.03	1,244.28	1,520.79	1,797.29	2,000.00	2,488.56
North Bromyard Group Parish Council	826.99	964.82	1,102.66	1,240.49	1,516.16	1,791.82	2,067.48	2,480.98
Ocle Pychard Parish Council	825.79	963.42	1,101.06	1,238.69	1,513.96	1,789.22	2,064.48	2,477.38
Orcop Parish Council	846.05	987.05	1,128.07	1,269.07	1,551.09	1,833.10	2,115.12	2,538.14
Orleton Parish Council	847.25	988.46	1,129.67	1,270.88	1,553.30	1,835.71	2,118.13	2,541.76
Pembridge Parish Council	844.08	984.76	1,125.44	1,266.12	1,547.48	1,828.84	2,110.20	2,532.24
Pencombe Group Parish Council Peterchurch Parish Council	847.73 840.24	989.01 980.28	1,130.31 1,120.32	1,271.59 1,260.36	1,554.17 1,540.44	1,836.74 1,820.52	2,119.32 2,100.60	2,543.18 2,520.72
Peterstow Parish Council	830.99	969.48	1,120.32	1,246.48	1,540.44	1,820.32	2,100.00	2,320.72
Pipe and Lyde Parish Council	829.34	967.56	1,105.79	1,244.01	1,520.46	1,796.90	2,073.35	2,488.02
Pixley & District Parish Council	834.61	973.71	1,112.82	1,251.92	1,530.13	1,808.33	2,086.53	2,503.84
Putley Parish Council	850.05	991.72	1,133.40	1,275.07	1,558.42	1,841.76	2,125.12	2,550.14
Pyons Group Parish Council	830.35	968.73	1,107.13	1,245.52	1,522.31	1,799.08	2,075.87	2,491.04
Richard's Castle (Herefordshire) Parish Council	835.39	974.62	1,113.86	1,253.09	1,531.56	1,810.02	2,088.48	2,506.18
Ross-on-Wye Town Council	855.19	997.71	1,140.25	1,282.78	1,567.85	1,852.90	2,137.97	2,565.56
Ross Rural Parish Council	823.19	960.39	1,097.59	1,234.79	1,509.19	1,783.58	2,057.98	2,469.58
Sellack Parish Council Shobdon Parish Council	829.56 846.13	967.82 987.15	1,106.08 1,128.18	1,244.34 1,269.20	1,520.86 1,551.25	1,797.38 1,833.29	2,073.90 2,115.33	2,488.68 2,538.40
St. Weonards Parish Council	834.59	973.68	1,120.10	1,251.88	1,530.08	1,808.27	2,086.47	2,503.76
Stapleton Group Parish Council	841.58	981.84	1,122.11	1,262.37	1,542.90	1,823.42	2,103.95	2,524.74
Staunton-on-Wye and District Group Parish Council	827.37	965.27	1,103.17	1,241.06	1,516.85	1,792.64	2,068.43	2,482.12
Stoke Edith Parish Meeting	818.66	955.10	1,091.55	1,227.99	1,500.88	1,773.76	2,046.65	2,455.98
Stoke Lacy Parish Council	839.63	979.56	1,119.51	1,259.44	1,539.32	1,819.19	2,099.07	2,518.88
Stretton Grandison Group Parish Council	823.87	961.18	1,098.50	1,235.81	1,510.44	1,785.06	2,059.68	2,471.62
Stretton Sugwas Parish Council	836.69	976.14	1,115.59	1,255.04	1,533.94	1,812.83	2,091.73	2,510.08
Sutton Parish Council Tarrington Parish Council	850.57 847.17	992.32 988.37	1,134.09 1,129.57	1,275.85 1,270.76	1,559.38 1,553.15	1,842.89 1,835.54	2,126.42 2,117.93	2,551.70 2,541.52
Thornbury Group Parish Council	830.71	969.16	1,129.57	1,246.07	1,522.98	1,799.88	2,117.93	2,341.32
Titley and District Group Parish Council	831.42	969.99	1,107.02	1,247.13	1,524.27	1,801.41	2,078.55	2,494.26
Upton Bishop Parish Council	841.01	981.18	1,121.35	1,261.52	1,541.86	1,822.19	2,102.53	2,523.04
Vowchurch & District Group Parish Council	831.33	969.88	1,108.44	1,246.99	1,524.10	1,801.20	2,078.32	2,493.98
Walford Parish Council	834.73	973.84	1,112.97	1,252.09	1,530.34	1,808.57	2,086.82	2,504.18
Wellington Parish Council	852.53	994.62	1,136.71	1,278.80	1,562.98	1,847.15	2,131.33	2,557.60
Wellington Heath Parish Council	840.13	980.15	1,120.18	1,260.20	1,540.25	1,820.29	2,100.33	2,520.40
Welsh Newton & Llanrothal Group Parish Council	849.25	990.79	1,132.34	1,273.88	1,556.97	1,840.05	2,123.13	2,547.76
Weobley Parish Council Weston Beggard Parish Council	832.97 826.31	971.80 964.02	1,110.63 1,101.75	1,249.46 1,239.46	1,527.12 1,514.90	1,804.77 1,790.33	2,082.43 2,065.77	2,498.92 2,478.92
Weston-under-Penyard Parish Council	828.26	966.30	1,101.75	1,239.40	1,514.90	1,790.33	2,005.77	2,478.92
Whitbourne Parish Council	836.50	975.91	1,115.34	1,254.75	1,533.59	1,812.41	2,070.05	2,509.50
Whitchurch & Ganarew Group Parish Council	838.91	978.73	1,118.55	1,258.37	1,538.01	1,817.64	2,097.28	2,516.74
Wigmore Group Parish Council	845.61	986.55	1,127.49	1,268.42	1,550.29	1,832.16	2,114.03	2,536.84
Withington Group Parish Council	834.31	973.36	1,112.42	1,251.47	1,529.58	1,807.68	2,085.78	2,502.94
Woolhope Parish Council	834.53	973.61	1,112.71	1,251.79	1,529.97	1,808.14	2,086.32	2,503.58
Wyeside Group Parish Council	832.81	971.60	1,110.41	1,249.21	1,526.82	1,804.41	2,082.02	2,498.42
Yarkhill Parish Council	837.95	977.61	1,117.27	1,256.93	1,536.25	1,815.56	2,094.88	2,513.86
Yarpole Group Parish Council	839.15	979.01	1,118.87	1,258.73	1,538.45	1,818.16	2,097.88	2,517.46
The proportion is calculated by the Council in acc	ordance with	legislation a	s the amour	nts to be take	n into accou	nt for the ve	ar in respect	of dwellin
in different valuation bands.								

Police Authority precept requirement for each valuation band

	VALUATION BANDS												
	Α	В	С	D	Е	F	G	Н					
	£	££££££££											
West Mercia Police Authority	119.15	139.00	158.86	178.72	218.44	258.15	297.87	357.44					

West Mercia Police Authority set a Budget for 2013/14 of £202,943,000 resulting in a Council Tax Requirement of £70,558,795, including a precept from Herefordshire Council of £11,484,579. The Band D Council Tax Charge for West Mercia Police Authority amounts to £178.72 (the same as for the three previous years).

For the year 2013/14 West Mercia Police Authority have stated the above amounts in precepts issued to the Council, in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of dwellings shown above.

Fire Authority precept requirement for each valuation band

	VALUATION BANDS											
	A B C D E F G H											
	£ £ £ £ £ £ £											
Hereford & Worcester Fire and												
Rescue Authority	49.10	57.27	65.46	73.64	90.00	106.38	122.73	147.28				

On 13th February 2013 Hereford & Worcester Fire and Rescue Authority set a Budget for 2013/14 of £32,549,000 resulting in a Council Tax Requirement of £18,579,427, including a precept from Herefordshire Council of £4,732,051. The Band D Council Tax Charge for Hereford & Worcester Fire and Rescue Authority amounts to £73.64 (the same as for the three previous years).

For the year 2013/14 Hereford & Worcester Fire and Rescue Authority have stated the above amounts in precepts issued to the Council, in accordance with Section 40 of the Local Government Finance Act 1992, for each of the categories of dwellings shown above

Council Tax for each valuation band, by Parish, incl	uding the P	olice & Fire	precepts					
PARISH				VALUATIO	N BANDS			
	A £	B £	C £	D £	E	F £	G £	H £
Abbeydore & Bacton Group Parish Council	د 1,017.58	د 1,187.16	<u>≮</u> 1,356.77	د 1,526.36	£ 1,865.55	£ 2,204.75	z 2,543.93	د 3,052.72
Aconbury Parish Meeting	989.16	1,153.99	1,318.87	1,483.72	1,813.44	2,143.16	2,472.87	2,967.44
Acton Beauchamp Group Parish Council	997.58	1,163.82	1,330.10	1,496.36	1,828.89	2,161.42	2,493.93	2,992.72
Allensmore Parish Council	992.30	1,157.66	1,323.06	1,488.44	1,819.21	2,149.98	2,480.73	2,976.88
Almeley Parish Council	1,006.40	1,174.11	1,341.86	1,488.44	1,845.06	2,149.98	2,480.73	3,019.18
· · ·	1,000.40		1,339.71		1,842.10		2,515.98	
Ashperton Parish Council		1,172.23		1,507.17		2,177.03		3,014.34
Aston Ingham Parish Council	994.95	1,160.75	1,326.59	1,492.41	1,824.06	2,155.71	2,487.35	2,984.82
Avenbury Parish Council	1,008.47	1,176.52	1,344.62	1,512.69	1,848.85	2,185.00	2,521.15	3,025.38
Aymestrey Parish Council	998.95	1,165.42	1,331.92	1,498.41	1,831.39	2,164.38	2,497.35	2,996.82
Ballingham, Bolstone & Hentland Group	996.22	1,162.23	1,328.28	1,494.31	1,826.38	2,158.45	2,490.52	2,988.62
Bartestree & Lugwardine Group Parish Council	1,005.68	1,173.26	1,340.89	1,508.50	1,843.73	2,178.95	2,514.17	3,017.00
Belmont Rural Parish Council	1,010.49	1,178.88	1,347.31	1,515.72	1,852.55	2,189.38	2,526.20	3,031.44
Birley with Upper Hill Parish Council	997.00	1,163.15	1,329.33	1,495.49	1,827.82	2,160.16	2,492.48	2,990.98
Bishop's Frome Parish Council	1,031.74	1,203.67	1,375.64	1,547.59	1,891.50	2,235.41	2,579.32	3,095.18
Bishopstone Group Parish Council	1,000.72	1,167.49	1,334.29	1,501.07	1,834.64	2,168.22	2,501.78	3,002.14
Bodenham Parish Council	1,001.23	1,168.08	1,334.96	1,501.83	1,835.57	2,169.32	2,503.05	3,003.66
Border Group Parish Council	1,003.01	1,170.15	1,337.34	1,504.50	1,838.84	2,173.17	2,507.50	3,009.00
Bosbury and Coddington Parish Council	1,004.72	1,172.14	1,339.61	1,507.06	1,841.97	2,176.87	2,511.77	3,014.12
Brampton Abbots & Foy Group Parish Council	992.81	1,158.25	1,323.74	1,489.20	1,820.14	2,151.07	2,482.00	2,978.40
Bredenbury & District Group Parish Council	1,009.28	1,177.46	1,345.69	1,513.90	1,850.33	2,186.75	2,523.17	3,027.80
Breinton Parish Council	1,000.45	1,167.17	1,333.92	1,500.66	1,834.14	2,167.63	2,501.10	3,001.32
Bridstow Parish Council	995.48	1,161.37	1,327.30	1,493.21	1,825.04	2,156.87	2,488.68	2,986.42
Brilley Parish Council	1,012.85	1,181.63	1,350.46	1,519.26	1,856.88	2,194.49	2,532.10	3,038.52
Brimfield and Little Hereford Group Parish Council	999.30	1,165.83	1,332.39	1,498.94	1,832.04	2,165.14	2,498.23	2,997.88
Brockhampton with Much Fawley Parish Council	1,013.16	1,181.99	1,350.87	1,519.72	1,857.44	2,195.16	2,532.87	3,039.44
Brockhampton Group Parish Council	1,002.46	1,169.52	1,336.61	1,503.68	1,837.83	2,171.99	2,506.13	3,007.36
Bromyard & Winslow Town Council	1,061.04	1,237.86	1,414.71	1,591.55	1,945.23	2,298.91	2,652.58	3,183.10
Burghill Parish Council	1,000.35	1,167.05	1,333.79	1,500.51	1,833.96	2,167.41	2,500.85	3,001.02
Callow & Haywood Group Parish Council	1,004.32	1,171.68	1,339.08	1,506.46	1,841.23	2,176.00	2,510.77	3,012.92
Clehonger Parish Council	1,002.48	1,169.54	1,336.63	1,503.71	1,837.87	2,172.03	2,506.18	3,007.42
Clifford Parish Council	997.27	1,163.46	1,329.68	1,495.89	1,828.31	2,160.74	2,493.15	2,991.78
Colwall Parish Council	1,038.84	1,211.95	1,385.11	1,558.24	1,904.52	2,250.80	2,597.07	3,116.48
Cradley Parish Council	1,007.98	1,175.96	1,343.97	1,511.96	1,847.95	2,183.95	2,519.93	3,023.92
Credenhill Parish Council	1,003.55	1,170.78	1,338.06	1,505.31	1,839.83	2,174.34	2,508.85	3,010.62
Cusop Parish Council	1,014.54	1,183.61	1,352.71	1,521.80	1,859.98	2,198.16	2,536.33	3,043.60
Dilwyn Parish Council	1,012.33	1,181.03	1,349.76	1,518.48	1,855.92	2,193.37	2,530.80	3,036.96
Dinedor Parish Council	1,016.57	1,185.97	1,355.42	1,524.84	1,863.70	2,202.55	2,541.40	3,049.68
Dinmore Parish Meeting	986.91	1,151.37	1,315.87	1,480.35	1,809.32	2,138.29	2,467.25	2,960.70
Dormington & Mordiford Group Parish Council	1,014.43	1,183.48	1,352.56	1,521.63	1,859.77	2,197.92	2,536.05	3,043.26
Dorstone Parish Council	996.85	1,162.97	1,329.12	1,495.26	1,827.54	2,159.83	2,492.10	2,990.52
Eardisland Parish Council	1,032.34	1,204.37	1,376.44	1,548.49	1,892.60	2,236.71	2,580.82	3,096.98
Eardisley Group Parish Council	998.45	1,164.83	1,331.26	1,497.66	1,830.48	2,163.29	2,496.10	2,995.32
Eastnor & Donnington Parish Council	1,003.82	1,171.09	1,338.41	1,505.71	1,840.32	2,174.92	2,509.52	3,011.42
Eaton Bishop Parish Council	1,003.82				1,841.20			3,012.86
· · · · · · · · · · · · · · · · · · ·		1,171.65	1,339.05	1,506.43		2,175.96	2,510.72	
Ewyas Harold Group Parish Council	1,011.13	1,179.63	1,348.16	1,516.68	1,853.72	2,190.77	2,527.80	3,033.36
Fownhope Parish Council	1,017.71	1,187.30	1,356.94	1,526.55	1,865.79	2,205.02	2,544.25	3,053.10
Foxley Group Parish Council	993.81	1,159.42	1,325.07	1,490.70	1,821.97	2,153.24	2,484.50	2,981.40
Garway Parish Council	1,027.68	1,198.93	1,370.23	1,541.50	1,884.06	2,226.62	2,569.17	3,083.00
Goodrich & Welsh Bicknor Group Parish Council	1,001.09	1,167.91	1,334.78	1,501.62	1,835.32	2,169.01	2,502.70	3,003.24
Hampton Bishop Parish Council	1,020.00	1,189.97	1,359.99	1,529.98	1,869.98	2,209.98	2,549.97	3,059.96
Hampton Charles Parish Meeting	986.91	1,151.37	1,315.87	1,480.35	1,809.32	2,138.29	2,467.25	2,960.70
Hatfield and District Group Parish Council	994.42	1,160.14	1,325.89	1,491.62	1,823.09	2,154.57	2,486.03	2,983.24
Hereford City Council	1,014.50	1,183.56	1,352.66	1,521.74	1,859.91	2,198.08	2,536.23	3,043.48
Holme Lacy Parish Council	1,038.94	1,212.08	1,385.25	1,558.40	1,904.71	2,251.03	2,597.33	3,116.80
Holmer & Shelwick Parish Council	994.20	1,159.88	1,325.59	1,491.29	1,822.69	2,154.09	2,485.48	2,982.58
Hope Mansell Parish Council	994.11	1,159.77	1,325.47	1,491.15	1,822.52	2,153.89	2,485.25	2,982.30
Hope under Dinmore Group Parish Council	1,001.38	1,168.25	1,335.16	1,502.05	1,835.84	2,169.63	2,503.42	3,004.10
How Caple, Sollershope & Yatton Group Parish Counci	1,007.98	1,175.95	1,343.96	1,511.95	1,847.94	2,183.93	2,519.92	3,023.90
Humber, Stoke Prior & Ford Group Parish Council	995.75	1,161.68	1,327.66	1,493.61	1,825.53	2,157.44	2,489.35	2,987.22
Huntington Parish Council	996.04	1,162.02	1,328.04	1,494.04	1,826.05	2,158.06	2,490.07	2,988.08
Kentchurch Parish Council	1,026.38	1,197.41	1,368.49	1,539.55	1,881.68	2,223.80	2,565.92	3,079.10

Council Tax for each valuation band, by Parish, incl	uding the P	olice & Fire	precepts					
PARISH				VALUATIC	N BANDS			
	A £	B £	C £	D £	E	F £	G £	H £
Kilpeck Group Parish Council	ت 1,022.36	ء 1,192.73	<u>ح</u> 1,363.14	د 1,533.53	ب 1,874.32	ء 2,215.11	ت 2,555.88	بر 3,067.06
Kimbolton Parish Council	1,004.53	1,171.93	1,339.36	1,506.78	1,841.62	2,176.47	2,511.30	3,013.56
Kings Caple Parish Council	1,017.50	1,187.06	1,356.66	1,526.24	1,865.41	2,204.58	2,543.73	3,052.48
Kingsland Parish Council	1,001.18	1,168.01	1,334.89	1,501.75	1,835.48	2,169.20	2,502.92	3,003.50
Kingstone & Thruxton Group Parish Council	999.30	1,165.83	1,332.39	1,498.94	1,832.04	2,165.14	2,498.23	2,997.88
Kington Rural and Lower Harpton Group Parish Counci		1,164.65	1,331.05	1,497.43	1,830.20	2,162.96	2,495.72	2,994.86
Kington Town Council	1,029.65	1,201.23	1,372.86	1,544.46	1,887.68	2,230.89	2,574.10	3,088.92
Kinnersley and District Group Parish Council	995.66	1,161.58	1,327.54	1,493.48	1,825.37	2,157.26	2,489.13	2,986.96
Lea Parish Council	1,011.90	1,180.53	1,349.19	1,517.84	1,855.14	2,192.44	2,529.73	3,035.68
Ledbury Town Council	1,035.98	1,208.62	1,381.30	1,553.96	1,899.29	2,244.62	2,589.93	3,107.92
Leintwardine Group Parish Council	1,008.28	1,176.30	1,344.36	1,512.40	1,848.49	2,184.58	2,520.67	3,024.80
Leominster Town Council	1,026.80	1,197.91	1,369.06	1,540.19	1,882.46	2,224.73	2,566.98	3,080.38
Linton Parish Council	995.50	1,161.40	1,327.33	1,493.24	1,825.07	2,156.91	2,488.73	2,986.48
Little Birch Parish Council	1,005.68	1,173.26	1,340.89	1,508.50	1,843.73	2,178.95	2,514.17	3,017.00
Little Dewchurch Parish Council	1,014.79	1,183.90	1,353.04	1,522.17	1,860.43	2,198.70	2,536.95	3,044.34
Llangarron Parish Council	993.95	1,159.58	1,325.26	1,490.91	1,822.23	2,153.54	2,484.85	2,981.82
Llanwarne & District Group Parish Council	991.88	1,157.17	1,322.50	1,487.81	1,818.44	2,149.07	2,479.68	2,975.62
Longtown Group Parish Council	995.72	1,161.64	1,327.61	1,493.56	1,825.47	2,157.37	2,489.27	2,987.12
Lower Bullingham Parish Council	1,007.36	1,175.23	1,343.14	1,511.03	1,846.82	2,182.61	2,518.38	3,022.06
Luston Group Parish Council	1,004.80	1,172.25	1,339.73	1,507.19	1,842.12	2,177.06	2,511.98	3,014.38
Lyonshall Parish Council	1,010.82	1,179.27	1,347.75	1,516.22	1,853.16	2,190.10	2,527.03	3,032.44
Madley Parish Council	1,000.78	1,167.55	1,334.36	1,501.15	1,834.74	2,168.33	2,501.92	3,002.30
Marden Parish Council	1,008.36	1,176.39	1,344.47	1,501.15	1,848.64	2,184.76	2,520.87	3,025.04
Marstow Parish Council	1,008.52	1,176.58	1,344.68	1,512.76	1,848.93	2,185.10	2,521.27	3,025.52
Mathon Parish Council	1,033.36	1,205.56	1,377.80	1,550.02	1,894.47	2,238.93	2,583.37	3,100.04
Middleton-on-the-Hill and Leysters Group Parish Counc		1,167.13	1,333.88	1,500.61	1,834.08	2,167.55	2,501.02	3,001.22
Monkland and Stretford Parish Council	1,014.66	1,183.75	1,352.87	1,521.98	1,860.20	2,198.42	2,536.63	3,043.96
Moreton on Lugg Parish Council	1,018.48	1,188.21	1,357.97	1,527.71	1,867.20	2,206.70	2,546.18	3,055.42
Much Birch Parish Council	996.98	1,163.11	1,329.29	1,495.45	1,827.78	2,160.10	2,492.42	2,990.90
Much Cowarne Group Parish Council	998.34	1,164.70	1,331.11	1,497.49	1,830.27	2,163.05	2,495.82	2,994.98
Much Dewchurch Parish Council	995.69	1,161.61	1,327.58	1,493.52	1,825.42	2,157.31	2,489.20	2,987.04
Much Marcle Parish Council	997.77	1,164.04	1,330.35	1,496.64	1,829.23	2,161.82	2,494.40	2,993.28
North Bromyard Group Parish Council	995.24	1,161.09	1,326.98	1,492.85	1,824.60	2,156.35	2,488.08	2,985.70
Ocle Pychard Parish Council	994.04	1,159.69	1,325.38	1,491.05	1,822.40	2,153.75	2,485.08	2,982.10
Orcop Parish Council	1,014.30	1,183.32	1,352.39	1,521.43	1,859.53	2,197.63	2,535.72	3,042.86
Orleton Parish Council	1,015.50	1,184.73	1,353.99	1,523.24	1,861.74	2,200.24	2,538.73	3,046.48
Pembridge Parish Council	1,012.33	1,181.03	1,349.76	1,518.48	1,855.92	2,193.37	2,530.80	3,036.96
Pencombe Group Parish Council	1,015.98	1,185.28	1,354.63	1,523.95	1,862.61	2,201.27	2,539.92	3,047.90
Peterchurch Parish Council	1,008.49	1,176.55	1,344.64	1,512.72	1,848.88	2,185.05	2,521.20	3,025.44
Peterstow Parish council	999.24	1,165.75	1,332.31	1,498.84	1,831.92	2,165.00	2,498.07	2,997.68
Pipe and Lyde Parish Council	997.59	1,163.83	1,330.11	1,496.37	1,828.90	2,161.43	2,493.95	2,992.74
Pixley & District Parish Council	1,002.86	1,169.98	1,337.14	1,504.28	1,838.57	2,172.86	2,507.13	3,008.56
Putley Parish Council	1,018.30	1,187.99	1,357.72	1,527.43	1,866.86	2,206.29	2,545.72	3,054.86
Pyons Group Parish Council	998.60	1,165.00	1,331.45	1,497.88	1,830.75	2,163.61	2,496.47	2,995.76
Richard's Castle (Herefordshire) Parish Council	1,003.64	1,170.89	1,338.18	1,505.45	1,840.00	2,174.55	2,509.08	3,010.90
Ross-on-Wye Town Council	1,023.44	1,193.98	1,364.57	1,535.14	1,876.29	2,217.43	2,558.57	3,070.28
Ross Rural Parish Council	991.44	1,156.66	1,321.91	1,487.15	1,817.63	2,148.11	2,478.58	2,974.30
Sellack Parish Council	997.81	1,164.09	1,330.40	1,496.70	1,829.30	2,161.91	2,494.50	2,993.40
Shobdon Parish Council	1,014.38	1,183.42	1,352.50	1,521.56	1,859.69	2,197.82	2,535.93	3,043.12
St. Weonards Parish Council	1,002.84	1,169.95	1,337.11	1,504.24	1,838.52	2,172.80	2,507.07	3,008.48
Stapleton Group Parish Council	1,009.83	1,178.11	1,346.43	1,514.73	1,851.34	2,187.95	2,524.55	3,029.46
Staunton-on-Wye and District Group Parish Council	995.62	1,161.54	1,327.49	1,493.42	1,825.29	2,157.17	2,489.03	2,986.84
Stoke Edith Parish Meeting (Chairman)	986.91	1,151.37	1,315.87	1,480.35	1,809.32	2,138.29	2,467.25	2,960.70
Stoke Lacy Parish Council	1,007.88	1,175.83	1,343.83	1,511.80	1,847.76	2,183.72	2,519.67	3,023.60
Stretton Grandison Group Parish Council	992.12	1,157.45	1,322.82	1,488.17	1,818.88	2,149.59	2,480.28	2,976.34
Stretton Sugwas Parish Council	1,004.94	1,172.41	1,339.91	1,507.40	1,842.38	2,177.36	2,512.33	3,014.80
Sutton Parish Council	1,018.82	1,188.59	1,358.41	1,528.21	1,867.82	2,207.42	2,547.02	3,056.42
Tarrington Parish Council	1,015.42	1,184.64	1,353.89	1,523.12	1,861.59	2,200.07	2,538.53	3,046.24
Thornbury Group Parish Council	998.96	1,165.43	1,331.94	1,498.43	1,831.42	2,164.41	2,497.38	2,996.86
Titley and District Group Parish Council	999.67	1,166.26	1,332.88	1,499.49	1,832.71	2,165.94	2,499.15	2,998.98
	1,009.26	1,177.45	1,345.67	1,513.88	1,850.30	2,186.72	2,523.13	3,027.76

PARISH				VALUATIC				
FAMOL	Α	В	С		E	F	G	Н
	£	£	£	£	£	£	£	£
Vowchurch & District Group Parish Council	999.58	1,166.15	1,332.76	1,499.35	1,832.54	2,165.73	2,498.92	2,998.70
Walford Parish Council	1,002.98	1,170.11	1,337.29	1,504.45	1,838.78	2,173.10	2,507.42	3,008.90
Wellington Parish Council	1,020.78	1,190.89	1,361.03	1,531.16	1,871.42	2,211.68	2,551.93	3,062.32
Wellington Heath Parish Council	1,008.38	1,176.42	1,344.50	1,512.56	1,848.69	2,184.82	2,520.93	3,025.12
Welsh Newton & Llanrothal Group Parish Council	1,017.50	1,187.06	1,356.66	1,526.24	1,865.41	2,204.58	2,543.73	3,052.48
Weobley Parish Council	1,001.22	1,168.07	1,334.95	1,501.82	1,835.56	2,169.30	2,503.03	3,003.64
Weston Beggard Parish Council	994.56	1,160.29	1,326.07	1,491.82	1,823.34	2,154.86	2,486.37	2,983.64
Weston-under-Penyard Parish Council	996.51	1,162.57	1,328.67	1,494.75	1,826.92	2,159.09	2,491.25	2,989.50
Whitbourne Parish Council	1,004.75	1,172.18	1,339.66	1,507.11	1,842.03	2,176.94	2,511.85	3,014.22
Whitchurch & Ganarew Group Parish Council	1,007.16	1,175.00	1,342.87	1,510.73	1,846.45	2,182.17	2,517.88	3,021.46
Wigmore Group Parish Council	1,013.86	1,182.82	1,351.81	1,520.78	1,858.73	2,196.69	2,534.63	3,041.56
Withington Group Parish Council	1,002.56	1,169.63	1,336.74	1,503.83	1,838.02	2,172.21	2,506.38	3,007.66
Woolhope Parish Council	1,002.78	1,169.88	1,337.03	1,504.15	1,838.41	2,172.67	2,506.92	3,008.30
Wyeside Group Parish Council	1,001.06	1,167.87	1,334.73	1,501.57	1,835.26	2,168.94	2,502.62	3,003.14
Yarkhill Parish Council	1,006.20	1,173.88	1,341.59	1,509.29	1,844.69	2,180.09	2,515.48	3,018.58
Yarpole Group Parish Council	1,007.40	1,175.28	1,343.19	1,511.09	1,846.89	2,182.69	2,518.48	3,022.18

That having calculated the aggregate in each case of the amounts at Annex 1(ii), Annex 1(iii) and Annex 1(iv), the Council, in accordance with Section 30(2) of the Local Government Finance Act 1992, hereby sets the following amounts of council tax for the year 2013/2014 for each of the categories of dwellings shown above.